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izR;sd fo|kFkhZ dk jftLVªs'ku ua- ds vuqlkj LFkku fu;r gS rFkk os vius fu;r LFkku ij gh cSBsaA ;fn dksbZ fo|kFkhZ
fdlh nwljs fo|kFkhZ ds LFkku ij cSBk ik;k x;k rks nksuksa fo|kfFkZ;ksa dks ijh{kk d{k ls ckgj dj fn;k tk,xk vkSj
nksuksa dks dksbZ vU; tqekZuk Hkh Lohdk;Z gksxkA

ijh{kk dh vof/k gS rFkk iz'u i= esa gSaA gSaA

fo|kFkhZ ijh{kk d{k esa yksx Vscy]dsYdwysVj ;k fdlh vU;lkexzh dk mi;ksx ugha dj ldrk gSA

ijh{kk ds le; fo|kFkhZ dks ifjoh{kd }kjk fn;s x;s funsZ'kksa dh ikyuk djuk vko';d gSA

iz'u i= gydjus ls igys fo|kFkhZ vk'oLr gks tk, fd blesa lHkh ist layXu gSa vFkok ughaA

izR;sd lgh mÙkj ds vad gSaA

ijh{kkFkhZ dks gy fd;s x;s iz'u dk mÙkj mÙkj iqfLrdk esa lgh LFkku ij
ds }kjk mfpr xksys dks xgjk djds nsuk gSA

6. 1 mark will be deducted for every wrong
answer.

7.
Blue / Black Ball Point Pen only

8. Use of Pencil is strictly prohibited.

Each correct answer carries 4 marks, while
Guessing of answer is harmful.

A candidate has to write his / her answers in the OMR sheet by darkening the appropriate
bubble with the help of as the correct answer(s) of the
question attempted.

OMR
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1. A spring executes SHM with mass of 10 kg
attached to it. The force constant of spring is
10 N/m. If at any instant its velocity is 40 cm/sec,
the displacement will be (here amplitude is 0.5m):
(1) 0.06 m (2) 0.3 m (3) 0.01 m (4) 1.0 m

2. A star is going away from earth with a speed of
100 km/s. Find the shift in wavelength of a 5700Å
ray produced by it, when observed from earth :-
(1) 0.63Å (2) 1.90Å
(3) 3.80Å (4) 5.70Å

3. The ratio of K.E. of the particle executing
S.H.M.at mean position to the K.E. at point whose
distance is half of amplitude is :

(1) 
1
3

(2) 
2
3

(3) 
4
3

(4) 
3
2

4. The amplitudes of two waves undergoing
interferance are in ratio of 3 : 1. The ratio of
maximum to minimum intensity would be :-
(1) 1 : 1 (2) 2 : 1 (3) 4 : 1 (4) 4 : 3

5. A torque of 30N m is acted on a 5kg wheel of
moment of inertia 2 kg m2 for 10 second. Then the
angle rotated by wheel in 10 second
(1) 750 rad (2) 1500 rad
(3) 3000 rad (4) 6000 rad

6. In the circuit shown in Fig., the current gain,
b = 100 for the transistor. What would be the bias
resistance RB So that VCE = 5V ? (Neglect VBE).

10 V VCC

1kW RC

IE

E

CB

VBE

IC

RB

IB

VCE

(1) 2 × 103 W (2) 2 × 105 W
(3) 1 × 106 W (4) 500 W

7. A ring is suspended from its one end and
oscillating then its time period for small
oscillations will be :-

(1) 
R

2
g

p  (2) 
2R

2
g

p  (3)
R

2
2g

p  (4) 
3R

2
2g

p

1. ,d fLçax blls tqM+s gq, ] nzO;eku 10 fdxzk ds CykWd ds
lkFk ljy vkorZ xfr dj jgh gSA fLçax fu;rkad 10 U;wVu@eh
gSA ;fn fdlh le; CykWd dk  osx 40 lseh@ls  gks] rks
bldk foLFkkiu gksxk (vk;ke 0·5 eh) gS %
(1) 0·06 ehVj (2)0·3 ehVj  (3) 0·01 ehVj (4) 1·0 ehVj

2. ,d flrkjk 100 km/s ds osx ls i`Foh ls nwj tk jgk gS]
MkIyj izHkko ds dkj.k bldh 5700Å rjax nS/;Z dh o.kZ
js[kk esa foLFkkiu gksxk :-
(1) 0.63Å (2) 1.90Å
(3) 3.80Å (4) 5.70Å

3. ljy vkorZ xfr dj jgs fdlh d.k dh ek/; fLFkfr ij
xfrt ÅtkZ ,oa tc mldh nwjh vk;ke dh vk/kh gksrh gS]
rc dh xfrt ÅtkZ dk vuqikr gksxk

(1) 
1
3

(2) 
2
3

(3) 
4
3

(4) 
3
2

4. v/;kjksi.k (interferance) dj jgh nks rjaxksa ds vk;ke
(amplitude) ds vuqikr 3  :  1 gS]  ifj.kkeh rjax dh
vf/kdre o U;wure rhozrk esa vuqikr gksxk :-
(1) 1 : 1 (2) 2 : 1 (3) 4 : 1 (4) 4 : 3

5. 30 U;wVu&ehVj dk cyk?kw.kZ 5 fdxzk nzO;eku ,oa 2 fdxzk&eh2

tM+Ro vk?kw.kZ okys ifg, ij 10 lsd.M ds fy, yxrk gSA
rks ifg, }kjk 10 lsd.M esa r; fd;k x;k dks.k gksxk %
(1) 750  jsfM;u (2) 1500 jsfM;u
(3) 3000 jsfM;u (4) 6000 jsfM;u

6. fuEu ifjiFk esa RB dk eku D;k gksxk ;fn b = 100 vkSj
VCE = 5V gSA (VBE = 0).

10 V VCC

1kW RC

IE

E

CB

VBE

IC

RB

IB

VCE

(1) 2 × 103 W (2) 2 × 105 W
(3) 1 × 106 W (4) 500 W

7. oy; dks ,d fljs ls yVdkdj nksyu djkus ij mlds y?kq
nksyu dk vkorZdky gksxk  &

(1) 
R

2
g

p  (2) 
2R

2
g

p  (3)
R

2
2g

p  (4) 
3R

2
2g

p

izR;sd iz'u dks vtqZu cudj djksA
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8. Choose the only false statement from the
following :-
(1) Substances with energy gap of the order of

10eV are insulators.
(2) The conductivity of a semiconductor increases

with increase in temperature
(3) In conductors, the valence and conduction

bands may overlap.
(4) The resistivity of a semiconductor increases

with increase in temperature
9. The electric field and electric potential at a point

are E and V respectively than :-

(1) If E = 0, then V must be zero.

(2) If V = 0, then E must be zero.

(3) If E ¹  0, then V can't be zero.

(4) If E ¹  0, then V may be zero.
10. A piece of copper and another of germanium are

cooled from room temperature to 77K. The
resistance of :-
(1) Each of these decreases
(2) Copper strip increases and that of germanium

decreases
(3) Copper strip decreases and that of germanium

increases
(4) Each of these increases.

11. When two point charges are brought closer to each
other, then electrostatic potential energy of system :-
(1) decreases (2) increases
(3) remains unchanged (4) may decrease.

12. If ( )ˆ ˆ ˆA 2i 3j 7k= - +
r

, ˆ ˆB i 2k= +
r

 and ˆ ˆC j k= -
r

,

find ( )A. B C´
r rr

:-

(1) ˆ ˆ ˆ2i j k- + + (2) 0

(3) ˆ ˆi 2k+ (4) None

13. Two square metal plates, each of side length a, are
used to form a capacitor. If electric field
between plates is E then electrostatic energy between
plate will be - (d = distance between plates) :-

(1) 0

1
E

2
Î (2) 2

0

1
E

2
Î

(3) 
2

2
0

a
E

2
Î (4) 

2
2

0

a d
E

2
Î

8. fuEu esa ls dkSulk dFku xyr gS :-
(1) os inkFkZ ftudk ÅtkZ varjky  10eV gS] os dqpkyd

gksrs gSA

(2) rki ds c<+us ds lkFk v/kZpkyd dh pkydrk Hkh c<+rh

gSA

(3) pkyd esa la;kth cS.M rFkk pkyu cS.M vfrO;kiu
dj ldrs gSaA

(4) rki ds c<+us ds lkFk v/kZpkyd dh izfrjks/kdrk c<+rh
gSA

9. fdlh fcUnq ij oS|qr {ks= o oS|qr foHko Øe'k%  E rFkk
V gS] rks :-

(1) ;fn E = 0,  rks V Hkh 'kwU; gksxkA

(2) ;fn V = 0,  rks E Hkh 'kwU; gksxkA

(3) ;fn E ¹  0, rks V 'kwU; ugha gksxkA

(4) ;fn E ¹  0, rks V 'kwU; gks Hkh ldrk gSA
10. Cu o Ge ds VqdM+s dejs ds rkieku ls 77K ij yk, tkrs

gSA nksuksa VqdM+ks ds izfrjks/k ds ckjs esa fuEu dkSulk dFku

lR; gS :-

(1) nksuksa dk izfrjks/k ?kVsxkA

(2) Cu dk c<+sxk rFkk Ge dk ?kVsxkA

(3) Cu dk ?kVsxk rFkk Ge dk c<+sxkA

(4) nksuksa dk c<+sxkA
11. tc nks fcUnq vkos'kksa dks ,d nqljs ds lehi yk;k tk;s rks

ra= dh oS|qr fLFkfrt ÅtkZ :-
(1) c<+sxh (2) ?kVsxh
(3) vifjofrZr jgsxh (4) ?kV Hkh ldrh gSA

12. ;fn ( )ˆ ˆ ˆA 2i 3j 7k= - +
r

, ˆ ˆB i 2k= +
r

 rFkk ˆ ˆC j k= -
r

,

rks ( )A. B C´
r rr

dk eku Kkr djks :-

(1) ˆ ˆ ˆ2i j k- + + (2) 0

(3) ˆ ˆi 2k+ (4) dksbZ ugha

13. a Hkqtk okyh nks oxkZdkj /kkrq dh ifV~Vdkvksa ls la/kkfj=
cuk;k x;k gSA ;fn ifV~Vdkvksa ds e/; oS|qr {kS= E gS rks
buds e/; fLFkj oS|qr ÅtkZ gksxh -
(d = ifV~Vdkvksa ds e/; nwjh):-

(1) 0

1
E

2
Î (2) 2

0

1
E

2
Î

(3) 
2

2
0

a
E

2
Î (4) 

2
2

0

a d
E

2
Î
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14. If the terminal speed of a sphere of gold (density
= 19.5 kg/m3) is 0.2 m/s in a viscous liquid
(density = 1.5 kg/m3), find the terminal speed of
a sphere of silver (density = 10.5 kg/m3) of the
same size in the same liquid
(1) 0.1 m/s (2) 0.2 m/s
(3) 0.4 m/s (4) 0.133 m/s

15. As the temperature of a conductor decreases its
resistivity and conductivity change. The product
of restivity and conductivity :-
(1) increases (2) decreases
(3) remains unchanged (4) may decreases

16. Kerosene rises in the wicks of a stove due to the
property -
(1) High viscosity
(2) Low density
(3) Due to capillary action
(4) Evaporation of oil at law temperature

17. Current in 10W is :-

R = 101 W

R = 52 W

10 v 10 v

(1) 1A (2) 2A (3) 2.5 A (4) zero
18. The Young’s modulus of a metal is 1.2 × 1011 Nm–2

and its inter atomic force constant is 3.6 × 10–9 N/m,
then the average distance between atoms is -
(1) 15Å (2) 3 × 10–16 m
(3) 3 × 10–20 m (4) none of these

19. If voltmeter reads 18 V then its resistance is
(approx) :-

50W

24W

30 V

V

(1) 130W (2) 100W
(3) 70W (4) 50W

14. ;fn ,d ';ku æo (?kuRo = 1.5 kg/m3) esa lksus
ds ,d xksys (?kuRo = 19.5 kg/m3) dh lhekUr
pky 0.2 m/s gks) rc mlh vkdkj ds ,d pkWnh ds
xksys (?kuRo = 10.5 kg/m3) dh mlh ';ku æo esa
lhekUr pky dh x.kuk dhft,A
(1) 0.1 m/s (2) 0.2 m/s
(3) 0.4 m/s (4) 0.133 m/s

15. tc /kkrq dk rki ?kVrk gS] rks bldh izfrjks/kdrk o pkydrk
nksuksa dk eku cnyrk gS] budh pkydrk o izfrjks/kdrk ds
xq.kuQy dk eku :-
(1) c<s+xk (2) ?kVsxk
(3) vifjofrZr jgsxk (4) ?kV Hkh ldrk gSA

16. feV~Vh ds rsy ds nhid dh cÙkh esa rsy Åij p<+rk gS)
bldk dkj.k gS&
(1) rsy dh ';kurk
(2) rsy dk U;wure ?kuRo
(3) cÙkh dh dsf'kdk fØ;k
(4) de rki ij rsy dk ok"ihdj.k

17. 10W esa /kkjk gksxh :-

R = 101 W

R = 52 W

10 v 10 v

(1) 1A (2) 2A (3) 2.5 A (4) 'kwU;
18. ,d /kkrq dk ;ax xq.kkad 1.2 × 1011 Nm–2  gS rFkk bldk

vUrjk.kfod cy fu;rakd 3.6 × 10–9 N/m gSA ijek.kqvksa
ds e/; vkSlr nwjh gksxh&
(1) 15Å (2) 3 × 10–16 m
(3) 3 × 10–20 m (4) bueas ls dksbZ ugha

19. ;fn oksYVehVj dk ikB~;kad 18 V gS] rks bldk izfrjks/k
yxHkx gS :-

50W

24W

30 V

V

(1) 130W (2) 100W
(3) 70W (4) 50W

dksbZ Hkh iz'u  Key Filling ls xyr ugha gksuk pkfg,A
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20. If the atomic masses for the parent and daughter
element in a radioactive decay are Mp and Md and
the mass of the electron me, then the Q-value for
radioactive b-decay is given by-
(1) Q = Mp C²
(2) Q = (Mp –  Md –  me) C²
(3) Q = (Mp –  Md) C²
(4) Q = (Mp –  Md – 2me) C²

21. A real image is formed by a convex lens. If we
put it in contact with a convave lens and the
combination again forms a real image, which of
the following is true for the new image from the
combination :-
(1) Shifts towards the lens system
(2) Shifts away from the lens system
(3) Remains at the original position
(4) No image is formed

22. The radius of the nucleus of 8O
16 is 3 × 10–15 m.

Its density in kg/m³ will be about-
(1) 2.35 × 10–17 (2) 2.35 × 1014

(3) 1014 (4) 2.35 × 1017

23. A double convex lens of focal length 6 cm is made
of glass of refractive index 1.5. The radius of
curvature of one surface is double that of the other
surface. The value of smaller radius of curvature is :-
(1) 6 cm (2) 4.5 cm (3) 9 cm (4) 4 cm

24. ac voltage is given by V = 622 sinwt coswt volt
then rms value of voltage is :-
(1) 622 volt (2) 311 volt
(3) 220 volt (4) 200 volt

25. A vessel of height 2d is half-filled with a liquid
of refractive index 2  and the other half with a
liquid of refractive index n. (The given liquids are
immiscible). Then the apparent depth of the inner
surface of the bottom of the vessel (neglecting the
thickness of the bottom of the vessel) will be :-

(1)
n

d(n 2)+ (2) 
d(n 2)

n 2

+

(3)
2n

d(n 2)+
(4) 

nd

d 2n+
26. Which is not true for series LCR circuit in

resonance :-
(1) Maximum current
(2) Maximum impedance
(3) zero phase difference
(4) resistive nature of circuit

20. ;fn fdlh jsfM;ks&,sfDVo {k; esa tud rFkk fo?kVu ds
QyLo:i cus rRo ijek.kqvksa ds nzO;eku Øe'k% Mp rFkk
Md gSa rFkk bysDVªkWu dk nzO;eku me gS) rc jsfM;ks&,sfDVo
chVk {k; ds fy;s Q eku fn;k tkrk gS&
(1) Q = Mp C²
(2) Q = (Mp –  Md –  Me) C²
(3) Q = (Mp –  Md) C²
(4) Q = (Mp –  Md – 2me) C²

21. mÙky ysUl ds }kjk okLrfod izfrfcEc curk gSA ;fn ge
bls ,d vory ysUl ds lEidZ esa j[krs gSa vkSj ;g
la;kstu iqu% ,d okLrfod izfrfcEc cukrk gS] rc bl
la;kstu ls cus u;s izfrfcECk ds fy;s fuEu esa ls D;k lR;
gSa  :-
(1) ;g ysUl ladk; dh vksj f[kld tkrk gSA
(2) ;g ysUl ladk; ls nwj f[kld tkrk gSA
(3) ewy fLFkfr esa jgrk gSA
(4) dksbZ izfrfcEc ugha curk gSA

22. 8O
16 dh ukfHkd dh f=kT;k 3 × 10–15 eh- gSA fdxzk@eh³

esa bldk ukfHkdh; ?kuRo yxHkx gksxk&
(1) 2.35 × 10–17 (2) 2.35 × 1014

(3) 1014 (4) 2.35 × 1017

23. viorZukad 1.5 okys dk¡p ls cus ,d mHk;ksÙky ysUl
dh Qksdl nwjh 6 cm  gSA ,d lrg dh oØrk
f=T;k] nwljh lrg dh nksxquh gSA NksVh oØrk f=T;k
dk eku gS  :-
(1) 6 cm (2) 4.5 cm (3) 9 cm (4) 4 cm

24. ac oksYVrk V = 622 sinwt coswt oksYV }kjk nh tk;s rks
oksYVst dk rms eku gksxk :-
(1) 622 volt (2) 311 volt
(3) 220 volt (4) 200 volt

25. Å¡pkbZ 2d dk ,d crZu ] viorZukad  2  ds ,d
æo ls vk/kk Hkj fn;k tkrk gS rFkk vU; vk/kk Hkkx
viorZukad n  ds nzo lsA (fn;s x;s nzo vkil esa
feyrs ugha gS) rc crZu dh rygVh dh vkUrfjd
lrg dh vkHkklh xgjkbZ gksxh  (crZu dh rygVh dh
eksVkbZ dks ux .; eku yhft;s) :-

(1)
n

d(n 2)+ (2) 
d(n 2)

n 2

+

(3)
2n

d(n 2)+
(4) 

nd

d 2n+
26. Js.kh LCR ifjiFk dh vuquknh voLFkk ds fy;s dkSulk

lR; ugha gS :-
(1) vf/kdre /kkjk
(2) vf/kdre izfrck/kk
(3) 'kwU; dykarj
(4) ifjiFk dh izfrjks/k izÏfr
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27. A beam of light of wavelength 600 nm from a distant
source falls on a single slit 1 mm wide and the
resulting diffraction pattern is observed on a screen
2 m away. The distance between the first dark fringes
on either side of the central bright fringe is :-
(1) 1.2 cm (2) 1.2 mm
(3) 2.4 cm (4) 2.4 mm

28. Which of the following graph represents variation
in induced emf and time corresponding to the
given f (flux) –t graph

t1 t2 t3

f

t

(1) 
e t1

t

t2

t3 (2) 
e

t1

t

t2 t3

(3) 
e t1

t

t2

t3 (4) None

29. A particle moves on a rough horizontal ground

with some initial velcoity v0. If 
th3

4
 of its kinetic

energy in friction in time t0, then co-efficient of
friction between particle and the ground is:-

(1) 
0

0

v
2gt (2) 

0

0

v
4gt (3) 

0

0

3v
4gt (4) 

0

0

v
gt

30. For a diamagnetic material :-
(1) mr > 1, c > 1 (2) mr > 1, c < 1
(3) mr < 1, c < 0 (4) mr < 1, c > 0

31. A body of mass M and moving with velocity u makes
a head on-elastic collision with another stationary
body of m. If A = m/M, then the ratio (f) of the loss
of energy of M to its initial energy will be :-

(1) f = A(A + 1)2 (2) f = 2

A
(A 1)+

(3) f = 
2

uA
(A 1)+

(4) f = 
2

4A
(A 1)+

27. ,d nwjLFk L=ksr ls rjaxnS/;Z 600 nm okyk ,d izdk'k
iq¡t 1 mm pkSM+h ,dy fLyV ij fxjrk gS vkSj ifj.kkeh
foorZu uewuk 2 m  nwj ijns ij izf"kr gksrk gSA dsUnzh;
pedhyh fÝUt ds fdlh Hkh vksj igyh dkyh fÝUtks ds
chp nwjh gS :-
(1) 1.2 cm (2) 1.2 mm
(3) 2.4 cm (4) 2.4 mm

28. fn;s x;s ¶yDl  f1 – t xzkQ ds fy;s dkSulk xzkQ izsfjr
emf o le; esa lEcU/k n'kkZrk gSA

t1 t2 t3

f

t

(1) 
e t1

t

t2

t3 (2) 
e

t1

t

t2 t3

(3) 
e t1

t

t2

t3 (4) dksbZ ugha

29. ,d d.k leku izkjfEHkd osx v0 ls [kqjnjh {kSfrt lrg

ij xfr djrk gSA ;fn bldh xfrt ÅtkZ dk  
th3

4
Hkkx

le; t0 esa ?k"kZ.k esa u"V gks tk;s rks d.k rFkk lrg ds eè;
?k"kZ.k xq.kkad gS :-

(1) 
0

0

v
2gt (2) 

0

0

v
4gt (3) 

0

0

3v
4gt (4) 

0

0

v
gt

30. ,d izfrpqEcdh; inkFkZ ds fy;s  :-
(1) mr > 1, c > 1 (2) mr > 1, c < 1
(3) mr < 1, c < 0 (4) mr < 1, c > 0

31. M nzO;eku o u osx dh ,d oLrq fojkekoLFkk ds
m nzO;eku ls lh/ks izR;kLFk VDdj djrh gSaA ;fn
A = m/M rks M dh ÅtkZ gkfu o izkjfEHkd ÅtkZ
dk vuqikr (f) gS :-

(1) f = A(A + 1)2 (2) f = 2

A
(A 1)+

(3) f = 
2

uA
(A 1)+

(4) f = 
2

4A
(A 1)+



16–01–2013TARGET : PRE-MEDICAL 2013 (NEET-UG)

6/30 HYour Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

32. An electromagnet uses a :-
(1) Soft iron core (2) Steel core
(3) Nickel core (4) Copper core

33.
1
n

th portion of a uniform chain of mass m and

length l lies on inclined plane as shown in figure.
Workdone in pulling the hagning part on the
horizontal part of the plane is (Assume there is
no friction everywhere)

(1) 2

2mg
n

l
(2) 2

mg
2n

l
       

30º

(3) 2

mg
4n

l
(4) 2

mg
n

l

34. Ampere circuital law is equivalent to :-
(1) Coulomb law
(2) Gauss law
(3) Gauss law in magnetism
(4) Maxwell law

35. Amount of work done to carry a block from A to
B will be (Assume friction coefficient µ)
(1) mgh

(2) µmg 2 2h+l       

q

µm h

B

l
A

(3) µmg(l + h)
(4) mg(h + µl)

36. When a current carrying conductor is placed in
magnetic field,then :-
(1) It always experience a force
(2) It may experience a force
(3) It never experience a force
(4) None

37. A body moves with velocity v, 2v and 3v in the
first, second and third, one third distance of path
travelled. Its average speed is :-

(1) 
6
11
F
HG

I
KJ v (2) 

12
11

F
HG

I
KJ v

(3) 
18
11

F
HG

I
KJ v (4) 

36
11

F
HG

I
KJ v

32. ,d oS|qr&pqEcd esa iz;qä gksrk gS :-
(1) dPps ykSg dh dksj (2) LVhy dh dksj
(3) fudsy dksj (4) rkez dksj

33. m nzO;eku o l yEckbZ okyh ,d leku pSu dk 
1
n

th Hkkx

fp=kuqlkj ur ry ij fLFkr gSA ry ds {kSfrt Hkkx ij yVds
gq;s Hkkx dks [khapus esa fd;k x;k dk;Z gS (ekuk fd lHkh
txg ?k"kZ.k 'kwU; gS)

(1) 2

2mg
n

l
(2) 2

mg
2n

l
       

30º

(3) 2

mg
4n

l
(4) 2

mg
n

l

34. ,sfEi;j dk ifjiFkh; fu;e rqY; gS %&
(1) dwyke ds fu;e ds
(2) xkÅl ds fu;e ds
(3) pqEcdRo esa xkÅl ds fu;e ds
(4) eSDlosy fu;e ds

35. A ls B rd fdlh fi.M dks ys tkus esa fd;s x;s dk;Z dh
ek=k gksxh (ekuk fd ?k"kZ.k xq.kkad  µ gS)
(1) mgh

(2) µmg 2 2h+l       

q

µm h

B

l
A

(3) µmg(l + h)
(4) mg(h + µl)

36. tc ,d /kkjkokgh pkyd dks pqEcdh; {ks= esa j[kk tkrk
gS] rks %&
(1) bl ij ges'kk cy dk;Z djsxk
(2) bl ij ,d cy dk;Z dj ldrk gS
(3) bl  ij dHkh Hkh dk;Z ugha djsxk
(4) None

37. ,d oLrq v, 2v ,oa 3v osx ls dqy r; nwjh dk Øe'k%izFke
,d frgkbZ] f}rh; ,d frgkbZ o vfUre ,d frgkbZ r; djsa
rks bldh vkSlr pky gS %&

(1) 
6
11
F
HG

I
KJ v (2) 

12
11

F
HG

I
KJ v

(3) 
18
11

F
HG

I
KJ v (4) 

36
11

F
HG

I
KJ v

Use stop, look and go method in reading the question
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38. The pressure and temeprature of an ideal gas in a
closed vessel are 720 kPa and 40ºC respectively. If

1
4

th of the gas is released from the vessel and the

temperature of the remaining gas is raised to 353ºC,
the final pressure of the gas is :-

(1) 1440 kPa (2) 1080 kPa

(3) 720 kPa (4) 540 kPa

39. Two cars A and B are travelling in the same direction
with velocitites v1 and v2 (v1 > v2). When the car A
is at a distance d behind of the car B, the driver of
the car A applied the brake producing a uniform
retardation a. There will be no collision when

(1) 
2

1 2(V V )
d

2a
-

<

(2) 
2 2

1 2V V
d

2a
-

<

(3) 
a2

)vv(d
2

21 -
>

(4) 
a2
VVd

2
2

2
1 -

>

40. An ideal gas heat engine operates in a Carnot cycle
between 227ºC and 127ºC. It absorbs 6 kcal at the
higher temperature. The amount of heat (in k-cal)
converted into work is equal to:-
(1) 3.5 (2) 1.6
(3) 1.2 (4) 4.8

41. A stone projected with a velocity u at an angle
q with the horizontal reaches maximum height H1.
When it is projected with velocity u at an angle

2
pæ ö- qç ÷è ø  with the horizontal, it reaches maximum

height H2. The relation between the horizontal
range R of the projectile, H1 and H2 is :-

(1) R = 1 24 H H

(2) R = 4(H1 –  H2)

(3) R = 4(H1 + H2)

(4) R = 
2
1
2
2

H
H

38. ,d cUn ik=  es a  ,d vkn'k Z x Sl ds nkc ,oa rki

Øe'k% 720 kPa ,oa 40ºC gSA ;fn xSl dk 
1
4

Hkkx

ik= ls fudky fy;k tk; rFkk 'k s"k x Sl dk rki
353ºC rd c<+k fn;k tk;s rk s  x Sl dk vfUre nkc
gS :-

(1) 1440 kPa (2) 1080 kPa

(3) 720 kPa (4) 540 kPa

39. nks dkj A rFkk B ,d gh fn'kk esa Øe'k% osx v1 rFkk
v2 ls xfreku gS (v1 >  v2)A tc dkj A dkj B ls
d nwjh ihNs gS rc dkj A ds pkyd }kjk czsd yxkus
ij ,d leku eanu a mRiUu gks tkrk gS] nksuksa dkjsa
ugha Vdjk;saxh ;fn

(1) 
a2

)VV(d
2

21 -
<

(2) 
2 2

1 2V V
d

2a
-

<

(3) 
a2

)vv(d
2

21 -
>

(4) 
a2
VVd

2
2

2
1 -

>

40. ,d vkn'kZ xSl Å"ek batu ,d dkuksZ pØ esa 227ºC ,oa
127ºC ds chp dk;Z djrk gSA ;g mPprki ij 6 kcal
Å"ek vo'kksf"kr djrk gSA Å"ek dh og ek=k (k-cal esa)
tks dk;Z esa ifjf.kr gksxh gS :-
(1) 3.5 (2) 1.6
(3) 1.2 (4) 4.8

41. ,d iRFkj dks {kSfrt ls q dks.k ij u osx ls iz{ksfir djus
ij ;g vf/kdre Å¡pkbZ H1 rd igq¡prk gSA tc bls {kSfrt

ls 
2
pæ ö- qç ÷è ø  dks.k ij u osx ls iz{ksfir fd;k tkrk gS] rks

;g vf/kdre Å¡pkbZ H2 rd igq¡prk gSA {kSfrt ijkl
R, H1 ,oa H2 esa lEcU/k gS :-

(1) R = 1 24 H H

(2) R = 4(H1 –  H2)

(3) R = 4(H1 + H2)

(4) R = 
2
1
2
2

H
H
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42. A gas undergoes a change of state during which

100 J of heat is supplied to it and it does 20 J of

work. The system is brought back to its original

state through a process during which 20 J of heat

is released by the gas. The work done by the gas

in the second process is :-

(1) 60 J (2) 40 J (3) 80 J (4) 20 J

43. A block A with     

mass 100 kg is

resting on another

block B of mass 200

kg. As shown in

figure a horizontal

rope tied to a wall

holds it. The coefficient of friction between A and

B is 0.2 while coefficient of friction. between B

and the ground is 0.3. The minimum required

force F to start moving B will be :–

(1) 900 N (2) 100 N

(3) 1100 N (4) 1200 N

44. A  metal  ball  of  surface  area  200  cm2 and

temperature 527ºC is surrounded by a vessel at

27ºC. If the emissivity of the metal is 0.4, then

the rate of loss of heat from the ball is :-

(s = 5.67 × 10–8 J / m2 – s – K4)

(1) 108 joule/sec (approx)

(2) 168 joule/sec (approx)

(3) 182 joule/sec (approx)

(4) 192 joule/sec (approx)

45. A body of weight 2 kg is suspended as shown in

the figure. The tension T1 in the horizontal string

(in kg wt) is :-

(1) 2 3/

(2) 3 2/          

30°

T1

2kg-wt(3) 2 3

(4) 2

42. ,d xSl dks ,d Å"ekxfrd voLFkk ifjorZu esa  100 J

Å"ek nh tkrh gS ,oa ;g 20 J dk;Z djrh gSA fudk; dks

iqu% viuh izkjfEHkd voLFkk esa yk;k tkrk gS] bl izfØ;k

esa xSl }kjk 20 J Å"ek eqDr gksrh gSA nwljh izfØ;k esa xSl

}kjk fd;k x;k dk;Z gS :-

(1) 60 J (2) 40 J

(3) 80 J (4) 20 J

43. ,d xqVdk  A ftldk   

æO;eku 100 fdxzk gS]

,d vU; 200 fdxzk ds

x qVd s B ds Åij

fp=kuqlkj fLFkr gSA

nhokj ls ca/kh Mksjh }kjk

bls fLFkj j[kk x;k gSA

A o B ds e/; ?k"kZ.k xq.kkad 0.2 gS] tcfd B o i`Foh

ds e/; 0.3 gSA B dks xfreku djus ds fy, vko';d

U;wure cy F gksxk :–

(1) 900 N (2) 100 N

(3) 1100 N (4) 1200 N

44. ,d /kkrq dh xs an dk rki 527ºC vkSj i`"B {ks=Qy
200 cm2 gSA bls 27ºC ds vU; ik= esa j[kk x;k gSA
;fn /kkrq dh mRltZu {kerk 0.4 gS] rks Å"ek gkfu dh
nj gksxh:-

(s = 5.67 × 10–8 J / m2 – s – K4)

(1) (yxHkx) 108 twy@lSd.M

(2) (yxHkx) 168 twy@lSd.M

(3) (yxHkx) 182 twy@lSd.M

(4) (yxHkx) 192 twy@lSd.M
45. 2kg Hkkj dh ,d oLrq dks fp=kuqlkj yVdk;k x;k gSA {kSfrt

Mksjh esa ruko T1 (fdxzk Hkkj) gS %&

(1) 2 3/

(2) 3 2/          

30°

T1

2kg-wt(3) 2 3

(4) 2
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46. PhCH2OPh 1mole
conc.HI¾¾¾®  product Final product

is :–

(A) PhCH2OH (B) PhCH2I

(C) PhOH (D) Ph–I

(1) A, C (2) A, D

(3) B, D (4) B, C

47. The species having pyramidal shape is :-
(1) SO3 (2) BrF3

(3) SiO3
2– (4) OSF2

48. The compound which is used for separation of
acetone and acetophenone :-

(1) Sodium bisulphite

(2) Girgnard reagent

(3) Sodium sulphate

(4) Ammonium chloride

49. Which of the following statements is correct for
CsBr3 :-
(1) It is a covalent compound
(2) It contains Cs3+ and Br– ions
(3) It contains Cs+ and Br3

– ions
(4) It contains Cs+, Br– and lattice of Br2 molecules

50. Gabriel phthalamide synthesis is used for
preparation of :-

(1) RNH2 (2) R2NH

(3) R3N (4) PhNH2

51. The number of sigma  and pi bonds in
butenyne are :-
(1) 5 sigma and 3 pi (2) 7 sigma and 3 pi
(3) 8 sigma and 2 pi (4) 6 sigma and 4 pi

52.

MgBr
2

3

(i )CO

(ii)H O+¾¾¾¾®P

In above reaction, product P is :-

(1)  

CHO

(2) 

COOH

(3) 

OH

(4) C H  –  C  –  C H6 5 6 5

O

46. PhCH2OPh 1mole
conc.HI¾¾¾® mRikn gS %&

vfUre mRikn gS :-

(A) PhCH2OH (B) PhCH2I

(C) PhOH (D) Ph–I

(1) A, C (2) A, D

(3) B, D (4) B, C

47. dkSulh Lih'kht fijsfeMh; gksrh gS :-
(1) SO3 (2) BrF3

(3) SiO3
2– (4) OSF2

48. ;ksfxd tks fd ,flVksu rFkk ,flVksfQuksu ds izFkDdj.k esa
iz;qä fd;k tkrk gS :-

(1) lksfM;e ckblYQkbV

(2) fxzU;kj vfHkdeZd

(3) lksfM;e lYQsV

(4) veksfu;e DyksjkbM
49. CsBr3 ds fy;s dkSulk dFku lR; gS :-

(1) ;g lgla;kstd ;kSfxd gS

(2) blesa Cs3+ rFkk Br– gksrk gS

(3) blesa Cs+ rFkk Br3
– gksrk gS

(4) blesa Cs+, Br– rFkk Br2 dk tkyd gksrk gS

50. xz sfcy Fk sysekbM la'ys"k.k fuEu ds fuekZ.k esa iz;qDr
gksrk gS :-

(1) RNH2 (2) R2NH

(3) R3N (4) PhNH2

51. C;wVhukbZu v.kq esa dqy  sigma rFkk pi ca/kks a dh la [;k
fdruh gS :-
(1) 5 sigma rFkk 3 pi (2) 7 sigma rFkk 3 pi
(3) 8 sigma rFkk 2 pi (4) 6 sigma rFkk 4 pi

52.

MgBr
2

3

(i )CO

(ii)H O+¾¾¾¾®P

bl vfHkfØ;k esa izkIr mRikn P gS  :-

(1)  

CHO

(2) 

COOH

(3) 

OH

(4) C H  –  C  –  C H6 5 6 5

O

Take it Easy and Make it Easy
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53. Correct order of boiling point is :-
(1) HF > HCl > HBr > HI
(2) HI > HBr > HCl > HF
(3) HF > HI > HBr > HCl
(4) HCl > HBr > HI > HF

54. In the cannizzaro reaction given below :

2Ph–CHO OH-

¾ ®¾¾  Ph–CH2OH + PhCO2
–

the slowest step is :-

(1) The attack of OH– at the carbonyl group

(2) The transfer of hydride ion to the carbonyl
group

(3) The abstraction of proton from the carboxylic
acid

(4) The deprotonation of Ph–CH2OH

55. Which is odd e– molecule :-
(1) SO2 (2) NO2 (3) CO2 (4) N2O

56. Which can undergoes HVZ reaction :-

(1) HCOOH (2) MeCOOH

(3) (COOH)2 (4) Me3CCOOH

57. The composition of white lead is :-
(1) PbCO3×Pb(OH)2

(2) PbCO3×2Pb(OH)2

(3) 2PbCO3×Pb(OH)2

(4) Pb(HCO3)2

58. CH3CH2Cl 2Ni / HNaCN Acetic
anhydride

X Y Z¾¾¾® ¾¾¾® ¾¾¾¾®

Z is :-
(1) CH3CH2CH2NH2

(2) CH3CH2CH2NHCOCH3

(3)CH3CH2NHCOCH3

(4) CH3CH2CH2CONHCH3

59. Which one of the following anions is present in
the chain structure of silicates ?
(1) (Si2O5

2–)n (2) (SiO3
2–)n

(3) (SiO4
4–)n (4) Si2O7

6–

60. CH3COOH + PCl5 ®¾ A
Ph H
AlCl

-¾ ®¾¾
3

B
2

Et MgBr
H O
-¾¾¾¾®C

Product C is :-
(1) CH3CH(OH)CH2CH3

(2) CH3COPh
(3) CH3CH(OH)Ph

(4) CH3CH2 C

CH3

(OH)Ph

53. DoFkukad dk lgh Øe gS :-
(1) HF > HCl > HBr > HI
(2) HI > HBr > HCl > HF
(3) HF > HI > HBr > HCl
(4) HCl > HBr > HI > HF

54. fuEu dSfutkjks vfHkfØ;k esa lcls ean in gS  :

2Ph–CHO OH-

¾ ®¾¾  Ph–CH2OH + PhCO2
–

(1) dkcksZfuy lewg ij OH– dk vkØe.k

(2) dkcksZfuy lewg ij gkbMªkbM vk;u dk LFkkukUrj.k

(3) dkcksZfDlfyd vEy ls izksVksu dk fu"dklu

(4) Ph–CH2OH dk foizksVksuhdj.k

55. fuEu esa fo"ke bysDVªkWu v.kq dkSu&lk gS\
(1) SO2 (2) NO2 (3) CO2 (4) N2O

56. fuEu eas ls dkSulk  HVZ vfHkfØ;k iznf'kZr djrk gS

(1) HCOOH (2) MeCOOH

(3) (COOH)2 (4) Me3CCOOH

57. 'osr lhlk gksrk gS :-
(1) PbCO3×Pb(OH)2

(2) PbCO3×2Pb(OH)2

(3) 2PbCO3×Pb(OH)2

(4) Pb(HCO3)2

58. CH3CH2Cl 2Ni / HNaCN Acetic
anhydride

X Y Z¾¾¾® ¾¾¾® ¾¾¾¾®

Z gS :-
(1) CH3CH2CH2NH2

(2) CH3CH2CH2NHCOCH3

(3) CH3CH2NHCOCH3

(4) CH3CH2CH2CONHCH3

59. dkSulh bZdkbZ js[kh; flfydsV esa mifLFkr gksrh gS\

(1) (Si2O5
2–)n (2) (SiO3

2–)n

(3) (SiO4
4–)n (4) Si2O7

6–

60. CH3COOH + PCl5 ®¾ A
Ph H
AlCl

-¾ ®¾¾
3

B
2

Et MgBr
H O
-¾¾¾¾®C

mRikn C gS :-
(1) CH3CH(OH)CH2CH3

(2) CH3COPh
(3) CH3CH(OH)Ph

(4) CH3CH2 C

CH3

(OH)Ph

fdlh iz'u ij nsj rd :dks ugha A
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61. Borax bead on heating with cobalt oxide forms
a bead of :-
(1) Co(BO2)2 (2) CoBO3

(3) Co3(BO3)2 (4) Na2Co(BO3)2

62. In the reaction

CH3COCH2CH2CH2COCH3 
Base¾ ®¾¾
D A

A will be –

(1) (2) 

(3) (4) 

63. What is the product formed when Aluminium
carbide reacted with water :-
(1) Acetylene (2) Methyl acetylene
(3) Ethylene (4) Methane

64. Match list one (I) and two (II) and select the
correct answer using the codes given below the
lists :–

 List–I List–II
(A) Nylon (i) Polyester
(B) Terylene (ii) Polytetra fluoroethylene
(C) Teflon (iii) Synthetic rubber
(D) Neoprene (iv) Polyamide

A B C D
(1) ii iii i iv
(2) ii iii iv i
(3) iv i iii ii
(4) iv i ii iii

65. Among the following the paramagnetic compound
is :-
(1) Na2O2 (2) O3 (3) N2O (4) KO2

66. Terylene is a condensation polymer of ethylene
glycol and
(1) Benzoic acid (2) Phthalic acid
(3) Salicylic acid (4) Terephthalic acid

67. Which of the following represents the correct
order of increasing electron gain enthalpy with
negative sign for the elements O, S, F and Cl?
(1) Cl < F < O < S (2) O < S < F < Cl
(3) F < O < S < Cl (4) S < O < Cl < F

61. cksjsDl eudk dks dksckYV vkWDlkbM ds lkFk xeZ djus ij
fdlds euds curk gS :-
(1) Co(BO2)2 (2) CoBO3

(3) Co3(BO3)2 (4) Na2Co(BO3)2

62. fuEu vfHkfØ;k esa

CH3COCH2CH2CH2COCH3 
Base¾ ®¾¾
D A

A gksxk –

(1) (2) 

(3) (4) 

63. ,syqfefu;e dkckZbM dh ty ds lkFk fØ;k djkus ij D;k
curk gS\
(1) ,slhfVyhu (2) esfFky ,slhfVyhu
(3) ,fFkyhu (4) esFksu

64. lwph–I dks lwph–II ds lkFk esp dfj;s vkSj fuEu dksM~l
ds vk/kkj ij lgh mÙkj pqfu;s %&

 lwph–I    lwph–II

(A) uk;yksu (i) ikWfyLVj

(B) Vsfjyhu (ii) ikWfyVsVªk¶ywjks,fFkyhu

(C) Vs¶yksu (iii) la'ysf"kr jcj

(D) uh;ksfizu (iv) ikWfy,ekbM

    A B C D

(1) ii iii i iv
(2) ii iii iv i
(3) iv i iii ii
(4) iv i ii iii

65. dkSulk ;kSfxd vuqpqEcdh; gS :-

(1) Na2O2 (2) O3 (3) N2O (4) KO2

66. Vsfjyhu] ,fFkyhu Xyk;dksy dk fdlds lkFk la?kuu
cgqyd gS %&
(1) csUtksbd vEy  (2) FkSfyd vEy
(3) lSfylSfyd vEy (4) VSjsIFkSfyd vEy

67. dkSulk Øe bysDVªku ca/kqrk ds fy;s lgh gS (½.k fpUg

ds lkFk)

(1) Cl < F < O < S (2) O < S < F < Cl

(3) F < O < S < Cl (4) S < O < Cl < F
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68. Kjeldahl's method can be used for estimation of
nitrogen in :-

(1) C6H5NO2 (2) Pyridine

(3) C6H5N = NC6H5 (4) C6H5NHCOCH3

69. Which of the following carbonate decomposes
on heating into metal oxide and CO2 :-
(1) Li2CO3, Na2CO3 (2) Na2CO3,  K2CO3

(3) Li2CO3, MgCO3 (4) Na2CO3, MgCO3

70. Which of the following harmone contains
iodine :–
(1) Adrenaline (2) Testosterone
(3) Thyroxine (4) Insulin

71. Which of the following ion is smallest :-
(1) Na+ (2) Mg2+ (3) Al3+ (4) Si4+

72. Glucose molecules react with x number of molecules
of phenyl hydrazine to yield osazone. The value of
x is
(1) 3 (2) 2 (3) 1 (4) 4

73. Correct order of basic nature :-
(1) CH3

– < NH2
– < OH– < F–

(2) CH3
– < F– < NH2

– < OH–

(3) F– < OH– < NH2
– < CH3

–

(4) F– < CH3
– < NH2

– < OH–

74. A mixture of benzaldehyde and fromaldehyde on
heating with aqueous NaOH solution gives:-

(1) PhCH2– OH and HCOONa

(2) PhCOONa and CH3OH

(3) PhCOONa and HCOONa

(4) Ph–CH2 – OH and CH3OH

75. Which of the following samples contains the
largest number of atoms ?
(1) 1 g of Ni(s) (2) 1 g of Ca(s)
(3) 1 g of N2(g) (4) 1 g of B(s)

76. Which one of the following isotopes has exactly
19 neutrons ?

(1) 35Cl (2) 19F (3) 35S (4) 39K

77. In how many elements does the outer most
electron has quantum numbers n = 4, l = 0,
m = +1
(1) 2 (2) 14 (3) 0 (4) 12

78. How many electrons are gained by one mole of
permanganate ions when permanganate ions react
with reducing agents in acid solution to form
manganase (II) ions ?
(1) 5 (2) 6.02 × 1023

(3) (6.02 × 1023)/5 (4) 5 × 6.02 × 1023

68. tSYMkWy fof/k fdl ;kSfxd esa ukbMªk stu ds vkadyu esa
mi;ksxh gS :-
(1) C6H5NO2 (2) fijhMhu
(3) C6H5N = NC6H5 (4) C6H5NHCOCH3

69. fuEu esa ls dkSu&lk /kkrq dkcksZusV ;qXe xeZ djus ij /kkrq
vkWDlkbM vkSj dkcZu MkbvkWDlkbM esa vi?kfVr gksrk gS\
(1) Li2CO3, Na2CO3 (2) Na2CO3,  K2CO3

(3) Li2CO3, MgCO3 (4) Na2CO3, MgCO3

70. fuEu esa ls fdl gkeksZu esa vk;ksMhu gksrk gS  %&

(1) ,Mªhufyu (2) VsLVksLVsjkWu

(3) Fkk;jksfDlu (4) bUlqfyu

71. fuEu le&bysDVªkWfud vk;uksa esa lcls NksVk vk;u gS  :-
(1) Na+ (2) Mg2+ (3) Al3+ (4) Si4+

72. Xywdksl v.kq] Qsfuy gkbMªsthu ds x v.kqvks ls fØ;k djds

vkslktksu cukrk gS] x dk eku gS

(1) 3 (2) 2 (3) 1 (4) 4

73. {kkjdrk dk lgh Øe gS :-
(1) CH3

– < NH2
– < OH– < F–

(2) CH3
– < F– < NH2

– < OH–

(3) F– < OH– < NH2
– < CH3

–

(4) F– < CH3
– < NH2

– < OH–

74. csUtsfYMgkbM rFkk QkesZfYMgkbM ds feJ.k dh fØ;k tyh;
NaOH foy;u ls djkus ij izkIr gksrk gS :-

(1) PhCH2– OH rFkk HCOONa

(2) PhCOONa rFkk CH3OH

(3) PhCOONa rFkk HCOONa

(4) Ph–CH2 – OH rFkk CH3OH

75. fuEu es a ls fdles a ijek.k qvk s a dh la [;k lok Zf/kd
gksxh\
(1) 1 g of Ni(s) (2) 1 g of Ca(s)
(3) 1 g of N2(g) (4) 1 g of B(s)

76. fuEufyf[kr esa ls fdl leLFkkfud esa U;wVªksuks dh la [;k
19 gS\
(1) 35Cl (2) 19F (3) 35S (4) 39K

77. rRoks dh la[;k D;k gksxh ftuesa ckáre bysDVªksu dh Dok.Ve
la[;k,sa n = 4, l = 0, m = +1 gS%&
(1) 2 (2) 14
(3) 0 (4) 12

78. tc ,d eksy iksVsf'k;e ijesXusV vEyh; ek/;e es a
vipk;d ds lkFk fØ;k djds Mn (II) nsrk gsA bl
izØe esa x zg.k fd; x;s bysDV ªk su dh l[a;k gk sxh
Øe'k %&
(1) 5 (2) 6.02 × 1023

(3) (6.02 × 1023)/5 (4) 5 × 6.02 × 1023



H 13/30

16–01–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

79. Calculate the molar solubility of AgCl in a 1L
solution which contains 10.0 g of CaCl2

[Ksp(AgCl) = 1.6 × 10–10]
(1) 8.9 × 10–10 (2) 8.9 × 10–11

(3) 8.9 × 10–9 (4) 8.9 × 10–12

80. H2O2 acts as a reducing agent in :

(1) FeCl2 + HCl + H2O2 ¾® FeCl3 + H2O

(2) Cl2 + H2O2 ¾® HCl + O2

(3) HI + H2O2 ¾® I2 + H2O

(4) H2SO3 + H2O2 ¾® H2SO4 + H2O

81. Which of the following solutions has the
highest pH ?
(1) 0.10 M KNO3 (2) 0.10 M AlCl3
(3) 0.10 M NH4Cl (4) 0.10 M CH3NH2

82. Which oxidation state of chromium is
(i) most easily oxidised, (ii) most easily
reduced ?

(1) +3, +6, (2) +2, +3

(3) +3, +3 (4) +2, +6

83. The correct formula to calculate the hydroxyl ion
concentration of an aqueous solution of

36 5C H NH Cl
Å

-  is

(1) 
w

b

CK
K (2) w bK K

C

´

(3) 
w

a

CK
K (4) a wK K

C

´

84. Which of the following does not represent n and
T relations at constant pressure and volume of an
ideal gas :

(1) 

T

(B)

n

(2) 

log T

lo
g 

n

(3) 

1/T

n

(4) 

T

n

79. AgCl dh foys;rk 1 yhVj foy;u esa crkb;s ftlesa
10.0 g CaCl2 mifLFkr gS
[Ksp(AgCl) = 1.6 × 10–10]
(1) 8.9 × 10–10 (2) 8.9 × 10–11

(3) 8.9 × 10–9 (4) 8.9 × 10–12

80. H2O2  fuEu esa ls fdl izØe esa vipk;d dh rjg dk;Z
djrk gS%&
(1) FeCl2 + HCl + H2O2 ¾® FeCl3 + H2O

(2) Cl2 + H2O2 ¾® HCl + O2

(3) HI + H2O2 ¾® I2 + H2O

(4) H2SO3 + H2O2 ¾® H2SO4 + H2O

81. fuEu esa ls fdl foy;u dh  pH lokZf/kd gksxh ?

(1) 0.10 M KNO3 (2) 0.10 M AlCl3

(3) 0.10 M NH4Cl (4) 0.10 M CH3NH2

82. fuEufyf[kr esa ls Økseh;e dh vkWDlhdj.k voLFkk (i)
lcls vklkuh ls vkDlhd`r gksxh rFkk vkDlhdj.k voLFkk
(ii) lcls vklkuh ls vip;hr gksxh] Øe'k%

(1) +3, +6, (2) +2, +3

(3) +3, +3 (4) +2, +6

83. yo.k 36 5C H NH Cl
Å

-  ds fy, foy;u esa gkbMªksDlhy

vk;uk s dh lk an zrk fuEu lw = }kjk nh tk ldrh
gS %&

(1) 
w

b

CK
K (2) w bK K

C

´

(3) 
w

a

CK
K (4) a wK K

C

´

84. fuEufyf[kr esa ls dkSulk lEcU/k n o T ds chp fu;r nkc
o fu;r vk;ru ij lgh ugha gksxk %&

(1) 

T

(B)

n

(2) 

log T

lo
g 

n

(3) 

1/T

n

(4) 

T

n

LoLFk jgks] eLr jgks rFkk i<+kbZ esa O;Lr jgks A
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85. For the reaction
CuSO4.5H2O(s) � CuSO4.3H2O(s) + 2H2O(g)

which one is correct representation

(1) 
2

2

p H OK p= é ùë û (2) Kc = [H2O]2

(3) Kp = Kc[RT]2 (4) All

86. At what temperature will the average speed of CH4

molecules have the same value of as O2 has at

1300 K

(1) 1200 K (2) 650 K

(3) 600 K (4) 300 K

87. The equilibrium constant for the reaction

N2O4(g) � 2  NO2(g) is 6.10 × 10–3 at 25°C.

Calculate the value of k for this reaction :

NO2(g) � (1/2) N2O4(g)

(1) 327 (2) 164

(3) 12.8 (4) 3.05 × 10–3

88. The magnetic moment of electron in an atom

(excluding orbital magnetic moment) is given by:

(1) ( )n n 2+  Bohr Magneton (or BM)

(2) ( )n n 1+ BM

(3) ( )n n 3+ BM

(4) None

89. Given that DG° for the reaction below is

–5.40 kJ mol–1, calculate DG at 298 K when the

pressure is 0.50 atm for NO2(g) and 2.0 atm for

N2O4(g). 2NO2 � N2O4

(1) –250 J mol–1 (2) –8800 J mol–1

(3) –1900 J mol–1 (4) – 11,000 J mol–1

90. For which of the following reactions, DH is not

equal to DE ?

(1)H2(g) + I2(g) = 2 HI(g)

(2) C(s) + O2(g)  = CO2(g)

(3) N2(g) + 3H2(g) = 2NH3(g)

(4) None of these

85. vfHkfØ;k

CuSO4.5H2O(s) � CuSO4.3H2O(s) + 2H2O(g)

ds fy, dkSulk lEcU/k lgh gksxk %&

(1) 
2

2

p H OK p= é ùë û (2) Kc = [H2O]2

(3) Kp = Kc[RT]2 (4) All

86. fdl rki ij CH4 dk vkSlr osx O2 ds 1300 K ij vkSlr

osx ds cjkcj gksxk %&

(1) 1200 K (2) 650 K

(3) 600 K (4) 300 K

87. vfHkfØ;k N2O4(g) � 2 NO2(g) ds fy, lkE;

f L F k j k ad  dk eku  6.10 × 10–3 gks rk s vfHkfØ;k

NO2(g) � (1/2) N2O4(g) ds fy, leku rki ij

fLFkjkad gksxk  %&

(1) 327 (2) 164

(3) 12.8 (4) 3.05 × 10–3

88. fdlh ijek.kq esa bysDVªkWu dk pqEcdh; vk?kw.kZ gksxk %&

(1) ( )n n 2+  Bohr Magneton (or BM)

(2) ( )n n 1+ BM

(3) ( )n n 3+ BM

(4) None

89. fuEu vfHkfØ;k ds fy, DG° dk eku  –5.40 kJ mol–1,

gks rks 298 K ij DG crkbZ;s ;fn NO2(g) o N2O4(g)

dk nkc Øe'k% 0.5 atm o 2.0 atm gks
2NO2 � N2O4

(1) –250 J mol–1 (2) –8800 J mol–1

(3) –1900 J mol–1 (4) – 11,000 J mol–1

90. fuEufyf[kr esa ls fdl vfHkfØ;k ds fy, DH, DE ds cjkcj

ugh gksxk%&
(1)H2(g) + I2(g) = 2 HI(g)

(2) C(s) + O2(g)  = CO2(g)

(3) N2(g) + 3H2(g) = 2NH3(g)

(4) bueas ls dksbZ ugha
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91. Lady bird (Beetle with red and black marking) is
used as biological control of ?

(1) Mosquito (2) Aphids

(3) Dragonflies (4) Jassids
92. Incorrect about cardiac muscles is:-

(a) non-striated
(b) voluntary
(c) muscles of hollow visceral organs
(d) Unbranched
(1) c (2) b,c (3) c,d,b (4) a,b,c,d

93. IARI, New Delhi developed which variety of
beans, which is protein enriched ?
(1) Pusa sawni (2) Pusa Gaurav
(3) Pusa A-4 (4) Lablab

94. Thick myofilaments are made of :-
(1) Dyenin (2) Myosin
(3) Kinesin (4) Actin

95. Which of the following scientist is the initiator of
"Lab-to-land" programme ?
(1) M.S. Swaminathan
(2) Norman Borlaug
(3) Herbert Boyer
(4) Panchanan Maheshwari

96. Which cell recognizes cells that have lost
class-I MHC molecules from their surface ?
(1) TH – Cell (2) TK-cell
(3) N.K.cell (4) All of these

97. 'Trichoderma' which are used as biological control
agent for different plant disease are :-
(1) Viruse (2) Free living fungi
(3) Free living Bacteria (4) Simbiotic Bacteria

98. Keratin of skin does not support viral replication
or penetration by bacteria. Skin forms ............
barrier of acquired immunity.
(1) Physiological/Cytokine
(2) Physical
(3) Cellular
(4) None of these

99. Occurrence of endemic species in south America
and Australia is due to :-
(1) Prograssive evolution

(2) Continental separation
(3) Absence of terrestrial routes to these places
(4) Mutation

91. ysMh cMZ (chVy ftl ij yky o dkyh /kkfj;k gksrh gS)
dks fdlds tSo fu;a=.k ds fy;s mi;ksx fd;k tkrk gS :-
(1) ePNj (2) ,QhM~l
(3) MªsxuQykbZ (4) tSflM

92. ân; isf'k;ksa ds ckjs esa xyr gS&
(a) vjsf[kr
(b) ,sfPNd
(c) [kks[kys vkarjkxksa dh isf'k;ka
(d) v'kkf[kr
(1) c (2) b,c (3) c,d,b (4) a,b,c,d

93. IARI, u;h fnYyh esa lse (Bean) dh dkSulh fdLe
fodflr dh x;h gS tks izksVhu izpwj gS ?
(1) iwlk lkouh (2) iwlk xkSjo
(3) iwlk A-4 (4) ycyc

94. eksVs ek;ksfQykesUVl fdlds cus gksrs gSa \
(1) Mk;fuu (2) ek;ksflu
(3) dkbusflu (4) ,sfDVu

95. fuEu esa ls dkSulk oSKkfud "iz;ksx'kkyk ls tehu" dk;ZØe
dk tud gS ?
(1) M.S. LokehukFku
(2) ukeZu ckWjykWx
(3) gjcVZ ckW;j
(4) iapkuu ekgs'ojh

96. dkSulh dksf'kdk] ml dksf'kdk dks igpkurh gS ftldh lrg
ij oxZ I MHC v.kq ugha gSA
(1) TH – Cell (2) TK-cell
(3) N.K.cell (4) mijksDr lHkh

97. 'VªkbdksMekZ' tks fofHkUu ikni jksxks ds tSfod fu;a=.k dkjd
ds :i esa mi;ksx fd;s tkrs gS] gksrs gS  :-
(1) okbjl (2) Lora= thoh dod
(3) Lora= thoh thok.kq (4) lgthoh thok.kq

98. Ropk dh fdjSfVu] fo"kk.kq izfrÏfrdj.k ,oa thok.kqvksa }kjk
Hk snu dk s jk sdrh g SA Ropk] mikftZr i zfrj{kk dk
.........................jksèkd cukrh gSA
(1) dkf;Zdh@lkbVksdkbu
(2) HkkSfrd@'kkjhfjd
(3) dksf'kdh;
(4) mijksDr ls dksbZ ugha

99. nf{k.kh vesfjdk o vkLVªsfy;k esa endemic species dh
mifLFkfr dk dkj.k gS %&
(1) izxfr'khy mf}dkl
(2) egkf}ih; i`FkDdj.k
(3) nksuksa LFkkuksa ds chp LFkyh; iFk dh vuqifLFkrh
(4) mRifjorZu

J ges'kk eqLdjkrs jgs a A
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100. Find incorrect statement with regard to
meiosis :-
(1) During meiosis only a single cycle of DNA

replication take place.
(2) In Anaphase - I sister chromatids remain

associated at their centromeres.
(3) Diakinesis represents transition to metaphase
(4) Four haploid cells are formed at the end of

meiosis-II which are genetically identical.
101. Some human individuals have long and pointed

canine teeth. It is an example of :-
(1) Vestigial organ (2) Atavism

(3) Homologous organ (4) None

102. The lysosome differs from the ER because
it's:-
(1) having unit membrane
(2) bear ribosomes on their surface
(3) Enzymes optimally active at acidic pH
(4) Site for formation of glycoprotein and

glycolipids
103. Production of oxygen started in which era during

evolution :-

(1) Archaeozoic era (2) Proterozoic era
(3) Palaeozoic era (4) Mesozoic era

104. Given below are four statements (A-D) each with
one or two blanks. Select the option which
correctly fill up the blank in two statements :-
Statements :
(A) Cilia are small structure which work like .......,

causing the movement of either the cell or the
surrounding fluid.

(B) Normally, there is only one ........... per cell.
(C) The ............. chromosome has centromere

slightly away from the middle of the
centromere whereas the ............ chromosome
has terminal centromere.

(D) Chromatin contains DNA and some basic
protein called ................ .

(1) (A) (i) Oars

(B) Mitochondria
(2) (B) Nucleus

(C) (i) Acrocentric, (ii) Telocentric
(3) (C) (i) Sub-meta centric, (ii) Telocentric

(D) Histone
(4) (D) Non - Histone

(A) (i) Oars

100. v/kZlw=h foHkktu ds lanHkZ esa xyr dFku NkafV,:-
(1) v/kZlw=h foHkktu ds nkSjku DNA izfrd`fr dk flQZ

,d pØ iw.kZ gksrk gSA
(2) i'pkoLFkk- I esa larfr v/kZxq.klw= xq.klw= fcUnq ls tqMs+

jgrs gSA
(3) ikjxfrØe e/;koLFkk dh vksj ikjxeu dks fu:fir

djrk gSA
(4) v/kZlw=h-II ds var esa pkj vxqf.kr dksf'kdk,¡ curh

gS] tks vkuqokaf'kd :i ls leku gksrh gSA
101. dqN O;fDr fo'ks"k esa yacs o uqfdys dsukbu nk¡r mifLFkr

gksrs gSa ;g fdldk mnkgj.k gS %&
(1) vo'ks"kh vax (2) iqoZtrk
(3) letkr vax (4) dksbZ ugha

102. y;udk; ER ls fHkUu gksrs gS] D;ksadh :-
(1) ;s bdkbZ f>Yyh ls ifjc¼ gksrs gSA
(2) budh lrg ij jkbckslkse feyrs gSA
(3) buds ,Utkbe vEyh; ifjfLFkfr;ksa esa lokZf/kd lfØ;

gkssrs gS
(4) ;s Xykbdks izksVhu o Xykbdks fyfiM+ fuekZ.k ds izeq[k LFky

gSA
103. mfn~dkl ds nkSjku vkWDlhtu dk mRiknu dkSuls egkdYi

esa izkjEHk gks x;k Fkk %&
(1) Archaeozoic era (2) Proterozoic era
(3) Palaeozoic era (4) Mesozoic era

104. uhps fn;s x;s pkj dFkuksa (A-D) esa ls] izR;sd esa ,d ;k
nks fjDr LFkku gSA vkidksa ml ,d fodYi dks pquuk gS
ftlesa pkj esa ls nks dFkuksa ds fjDr LFkkuksa dks lgh Hkjk x;k
gS :-
dFku :
(A) i{ekHk ,d NksVh lajpuk gS tks ......., dh rjg dk;Z

djrh gS] tks dksf'kdk dks ;k mlds pkjksa rjQ feyus
okys rjy dh xfr esaA

(B) lk/kkj.kr;k ,d dksf'kdk esa ,d gh ........... feyuk gSA
(C) ............. xq.klw= esa xq.klw= fcUnq xq.klw= ds e/; ls

FkksMk gVdj gksrk gSA tcfd ............ xq.klw= esa xq.klw=
fcUnq xw.klw= ds 'kh"kZ ij gksrk gS

(D) ØksesVhu esa DNA rFkk dqN {kkjh; izksVhu feyrk gSA
ftls ................ dgrs gSA

(1) (A) (i) pIiq,
(B) ekbVksdksfMª;k

(2) (B) dsUnzd
(C) (i) vxzfcUnq, (ii) vardsUnzh

(3) (C) (i) mie/;dsUnzh, (ii) vardsUnzh
(D) fgLVksu

(4) (D) buj - fgLVksu
(A) (i) pIiq
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105. Nictitating membrane in cat is an
example of :-
(1) Atavismic character (2) Vestigial organ

(3) Homologous organ (4) Functional structure

106. Every chromosomes essentially has a ........... on
the sides of which disc shaped structure called
.......... are present :-
(1) Satellite, NOR
(2) Secondary constriction, centriole
(3) Primary constriction, centriole
(4) Centromere, Kinetochores

107. Near about the carboniferous period all the present
day continents formed a single large land mass
called:-
(1) Alligators (2) Realms

(3) Pangaea (4) Country

108. Which of the following is heteropolymer :-
(1) Protein (2) Inulin
(3) Glycogen (4) Starch

109. Read the following statements and give the answer
as asked below :-
(A) The cell wall of fungi is composed of chitin

and polysaccharide.
(B) Members of phycomycetes are facultative

parasite on plants.
(C) In Ascomycetes asexual spores are called

ascospores.
(D) In Basidiomycetes vegetative reproduction by

fragmentation is common.
How many statements are correct ?
(1) One (2) Two (3) Three (4) Four

110. Lactose is :-
(1) Reducing monosaccharide
(2) Made up of b.D. Galactose & b-D-Glucose
(3) Milk sugar
(4) Both (2) & (3)

111. When the common characteristic goes on
decreasing :-
(1) As we go higher from species to kingdom.
(2) As we go lower from kingdom to species.
(3) As we go both lower and higher in taxonomical

hierarchy.
(4) None of these

112. Which of the following is essential amino acid
(1) Tryptophan (2) Threonine
(3) Histidine (4) All

105. fcYyh esa mifLFkr fues"kd f>Yyh fuEu fdldk mnkgj.k
gS %&
(1) iqoZtrk (2) vo'ks"kh vax
(3) letkr vax (4) fØ;kRed lajpuk

106. izR;sd xq.klw= esa ,d ............ feyrk gS bl ij fcEc vkdkj
dh lajpuk feyrh gS ftls .......... dgrs gS :-

(1) lsVsykbV, NOR

(2) f}rh; ladh.kZu] rkjd dsUnz

(3) izkFkfed ladh.kZu, rkjd dsUnz

(4) xq.klw= fcUnq, dkbusVksdksj
107. dkcksZfuQsjl fifj;M ds yxHkx lehi le; esa vkt ds

lHkh egk}hi ,d lkFk gh HkwHkkx ij fLFkr Fks] bls D;k dgrs
gSa:-
(1) Alligators (2) Realms
(3) Pangaea (4) Country

108. fuEu esa ls dkSulk fo"ke cgqyd gS :-
(1) izksVhu (2) Inulin
(3) Xykbdkstu (4) LVkpZ

109. fuEufyf[kr dFku dks if<, ,ao uhps iwNs x, mÙkj dks
nhft, :-
(A) dod dh dksf'kdk fHkfÙk dkbVhu ,ao iksfylsdsjkbM+

dh cuh gksrh gSA
(B) QkbdksekblhVht ds lnL; ikniksa ij fodYih ijthoh

gksrs gSA
(C) ,Ldk sekblhVht vySafxd chtk.k q  ,Ldk sLik sj

dgykrs gSA
(D) csflMh;ksekblhVht esa dkf;d tuu fo[k.M+u ds }kjk

lkekU; gSA
mijksDr fdrus dFku lR; gS :-
(1) ,d (2) nks (3) rhu (4) pkj

110. ysDVkst gS :-
(1) Reducing monosaccharide
(2) b.D. Galactose & b-D-Glucose  ls cus gksrs gSA
(3) nqX/k 'kdZjk
(4) nksuksa (2) & (3)

111. dc lkeku xq.kksa esa deh vkrh tkrh gS :-
(1) tc ge tkfr ls txr dh vksj mPprj tkrs gSA
(2) tc ge txr ls tkfr dh vksj fuEurj tkrs gSA
(3) tc ge nksuksa mPprj ,ao fuEurj ofxZdh inkuqØe esa

tkrs gSA
(4) buesa ls dksbZ ugha

112. fuEu esa ls dkSulk vehuks vEy vko';d vehuks vEy gS%&
(1) Tryptophan (2) Threonine
(3) Histidine (4) lHkh

viuh {kerk dks iwjk olwyus dk iz;kl djs a A
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113. In the column-I and column-II pathogen and
related disease are given, match the correct
pathogen of its causing disease :-

Column-I Column-II
(i) Bacteria (A) Potato spindle tuber

disease
(ii) Fungi (B) Leaf rolling and

curling
(iii) Virus (C) Wheat rust disease
(iv) Viroids (D) Citrus canker
(1) i-D, ii-C, iii-A, iv-B (2) i-D, ii-C, iii-B, iv-A
(3) i-A, ii-B, iii-C, iv-D (4) i-C, ii-D, iii-B, iv-A

114. Protoplasm term given by :-
(1) Dujardin (2) Purkinje
(3) Schultze (4) Huxley

115. In the following which one is the example of
Bryophyta that has elaborate mechanism of spore
dispersal :-
(1) Polysiphonia (2) Marchantia
(3) Polytrichum (4) Dryopteris

116. All of the following are sense organs in
Periplaneta except :-
(1) Anal style (2) Anal cerci
(3) Antennae (4) Maxillary palps

117. Read the following statements and select the
correct option :-
(A) Gymnosperms include medium size tree or tall

trees, shrubs and herbs.
(B) In cycas coralloid roots are associated with

mycorrhiza.
(C) In conifers needle like leaves reduce the

surface area.
(D) The gymnosperms are heterosporous.
How many above statements are correct and
incorrect :-
(1) 2 - Correct, 2 - Incorrect.
(2) 3 - Correct, 1 - Incorrect.
(3) 1 - Correct, 3 - Incorrect.
(4) 0 - Correct, 4 - Incorrect.

118. Which of the following route of blood clotting is
correctly described ?

(1) Cascade process ® Thrombin ®
Thrombokinase ® Fibrin

(2) Thrombokinase ® Cascade process ®
Thrombin ® Fibrin

(3) Cascade process ® Thrombokinase ®
Thrombin ® Fibrin

(4) Thrombin ® Thrombokinase ® Cascade
process ® Fibrin

113. dkWye-I rFkk dkWye-II esa jksxdkjd ,ao lEcfU/kr jksx fn;k
x;k gS] jksx dkjd ,oa mlls gksus okys jksx dk lgh esy
dhft, :-

dkWye-I dkWye-II
(i) thok.kq (A) iksVsVks LikbUMy V~;wcj

jksx
(ii) dod (B) fyQ jksfyax ,oa

djfyax
(iii) fo"kk.kq (C) xsagw dk jLV jksx
(iv) okbjkWbM~l (D) flVªl dsdaj
(1) i-D, ii-C, iii-A, iv-B (2) i-D, ii-C, iii-B, iv-A
(3) i-A, ii-B, iii-C, iv-D (4) i-C, ii-D, iii-B, iv-A

114. izksVksIykTe uke fn;k x;k :-
(1) Dujardin (2) Purkinje
(3) Schultze (4) Huxley

115. fuEufyf[kr esa ls dkSulk ,d czk;ksQkbVk dk mnkgj.k gS]

tks chtk.kq fofdj.k dh cgqr foLr̀r iz.kkyh j[krk gS ?

(1) iksfylkbQksfu;k (2) ekdsZfU'k;k
(3) iksfyVªkbde (4) Mªk;ksIVsfjl

116. fuEu lHkh isjhIysusVk  esa losanh vax gS] dsoy ,d dks NksMdj
og gS :-
(1) xqnk 'kwd (2) xqnk ywe
(3) J`afxadk (4) eSfDlyjh Li'kZd

117. fuEufyf[kr dFkuksa dks if<, rFkk lgh fodYi dk pquko
dhft, :-
(A) ftEuksLieZ ds e/;e vkdkj o`{k ;k cM+s o`{k] >kfM+;k¡

,oa 'kkd gksrh gSA
(B) lkbdl esa izoky ewy ] dod ewy ds lkFk lg;ksx

djrh gSA
(C) 'kaDokdkj ikS/kksa dh lqb Z ds leku ifÙk;ka lrgh {ks=Qy

de djrh gSA
(D) ftEuksLieZ fo"ke chtk.kqd gksrs gSA
mijksDr esa ls fdrus dFku lgh ,oa xyr gS:-
(1) 2 - lgh, 2 - xyr.
(2) 3 - lgh, 1 - xyr
(3) 1 - lgh, 3 - xyr
(4) 0 - lgh, 4 - xyr

118. fuEu esa ls jä Ldanu dk dkSulk ekxZ lgh o£.kr gS ?

(1) lksikuh izØe ® FkzksfEcu ® FkzksEcksdkbust ® Qkbfczu

(2) FkzksEcksdkbust ® lksikuh izØe ® FkzksfEcu ® Qkbfczu

(3) lksikuh izØe ® FkzksEcksdkbust ® FkzksfEcu ® Qkbfczu

(4) FkzksfEcu ® FkzksEcksdkbust ® lksikuh izØe ® Qkbfczu
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119. Taxonomist have developed a variety of
taxonomic aids to facilitate :-
(1) Identification of organism
(2) Naming of organism
(3) Classification of organism
(4) All of the above

120. Which of the following cell junction helps to stop
substances from leaking across a tissue ?
(1) Gap junction (2) Tight junction
(3) Adhering junction (4) All of these

121. For Bryophytes,
Select the incorrect statement in the following :-
(1) The plant body of liver worts is thalloid and

isobilateral.
(2) Mosses have upright, slender axis bearing

spirally arranged leaves.
(3) Spores germinate to form gametophyte.
(4) The zygote produces a sporophyte

122. Hormones are :-
(A) Low molecular weight substances
(B) Stored in body
(C) Bio catalyst
(D) Mainly Functional away from origin
(E) Intercellular substances
(F) Non species specific
(G) Exclusively proteins
(1) B, C, E, F (2) A, C, E, F
(3) A, D, E, F (4) A, D, E, G

123. Identify the diagram that is given below :-

(1) Selaginella (2) Equisetum
(3) Fern (4) Salvinia

124. It iter is blocked than what will be happens with
CSF conduction in spinal cord?
(1) No CSF conduction
(2) CSF conduction continuous
(3) Stopped
(4) CSF conduction will irregular

119. ofxZdhfonksa us fofHkUu ofxZdh lk/ku budks lqxe cukus ds
fy, fodflr fd;k gS :-
(1) lthoksa dh igpku
(2) lthoksa dk ukedj.k
(3) lthoksa dk oxhZdj.k
(4) mijksDr lHkh

120. fuEu esa ls dkSulh dksf'kdk lfU/k inkFkks± dks mÙkd ls ckgj
fudyus ls jksdrh gS ?
(1) varjkyh lfU/k (2) n`< lfU/k
(3) vkalth lfU/k (4) mijksDr lHkh

121. czk;ksQkbVk ds fy,,
fuEufyf[kr esa ls xyr dFku pqfu, :-

(1) fyojoVZ dk ikni dk; FkSyksbM+ ,ao lef}ik'oZ;h gSA

(2) ekWl esa lh/kk] iryk ruk lk gksrk gSA ftl ij lfiZy
:i esa ifÙk;ka yxh jgrh gSA

(3) chtk.kq vadqfjr gksdj ;qXedksn~fHkn cukrs gSA

(4) ;qXeut ls chtk.kqn~fHkn~ curs gSA
122. gkeksZUl gS :-

(A) de v.kqHkkj okys inkFkZ
(B) 'kjhj esa laxzfgr@laxzg.k
(C) tSo mRizsjd
(D) mRifÙk LFky ls nwj dk;Z'khy@fØ;k'khy
(E) Intercellular substances
(F) vtkfr fof'k"V
(G) dsoy izksVhu
(1) B, C, E, F (2) A, C, E, F
(3) A, D, E, F (4) A, D, E, G

123. uhps fn, x, fp= dks igpkfu, :-

(1) flySftusyk (2) bDohlhVe
(3) QuZ (4) lkYohfu;k

124. ;fn bVj dks vojksf/kr dj fn;k tkos rks es:jTtq ds CSF
lapj.k ij D;k izHkko gksxk ?
(1) CSF lapj.k ugha gksxk
(2) CSF lrr~ gksxk
(3) :d tkosxk
(4) CSF lapj.k vlkekU; gks tkosxk
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125. In the following diagrams which one is the
example of Red Algae :-

(1) (2) 

(3) (4) 

126. Read the sentense :
The entire process of response to a PNS
stimulation, that occur involuntary i.e. without
conscious effort and requires involvement of CNS
part is called a reflex action:-
Which one is not true about sentense-
(a) All spinal reflexes are involuntary
(b) All involuntary reflexes are spinal reflex
(c) Sensory stimuli passes through

pseudo- unipolar from ventral surface
(d) Lateral horns are found is thoracic, cervical

and lumbar region of spinal cord.
(1) a, c, d (2) b,c,d
(3) a,b,d (4) a,b,c

127. Which chromosomal arrangement in F1 is present
in repulsion of Bateson :-
(1) Cis (2) Trans
(3) Both of above (4) None of above

128. The maximum volume of air a person can breathe
in after a forced expiration :-

(1) TV + ERV (2) TV + IRV

(3) TV + ERV + IRV (4) ERV + RV
129. If AB and O blood group are present in the

offsprings of a couple which is true for this couple:-

(1) Both are homozygous

(2) Both are heterozygous

(3) They have AB and O blood group

(4) They can donate blood to any one

125. fn, x, fp= esa ls dkSulk ,d yky 'kSoky dk mnkgj.k
gS :-

(1) (2) 

(3) (4) 

126. okD; dks if<+, :
vuqHko dh lEiw.kZ fØ;kfof/k ,d vuSfPNd fØ;k gS tks
fd ifjf/k; raf=dh; mn~nhiu ds QyLo:i dsUæh; raf=dk
ra= dh vuqifLFkfr esa gksrh gS izfrorhZ fØ;k dgykrh gS:-
dkSulk ,d fodYi bl okD; ls lEcfU/kr ugha gS -
(a) lHkh es: izR;korZ fØ;k,sa] vuSfPNd gksrh gSA
(b) lHkh vuSfPNd izR;korZ] es: izR;korZ gksrh gS
(c) laosnh mn~nhiu] v/kj lrg ls vkHkklh ,d /kqzoh; U;wjkWu

ls xqtjrs gSA
(d) ik'oZ J`ax es:jTtq ds o{kh;] xzhok o yEcj {ks= esa

ik,s tkrs gSA
(1) a, c, d (2) b,c,d

(3) a,b,d (4) a,b,c

127. csVlu ds izfrd"kZ.k esa F1 esa xq.klw=h; foU;kl dkSulk gksrk
gS :-
(1) fll (2) Vªkal
(3) mijksDr nksuksa (4) mijksDr esa dksbZ ugha

128. cyiwoZd mPN'olu ds ckn ok;q dh og vf/kdre ek=k
(vk;ru) tks ,d O;fDr var%'oflr (Inspired) dj
ldrk gS%&
(1) TV + ERV (2) TV + IRV
(3) TV + ERV + IRV (4) ERV + RV

129. ,d nEifÙk dh larkuksa esa AB o O jDr lewg mifLFkr gSA
bl nEifÙk ds fy;s D;k lgh gS :-

(1) nksuksa le;qXeth gSA

(2) nksuksa fo"ke;qXeth gSA

(3) os AB vkSj O jDr lewg j[krs gSaA

(4) os fdlh dks Hkh jDr nku dj ldrs gSaA
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130.  List-I      List-II

(a) Gliding joint Between the carpals

(b) Cartilaginous Between the adjacent
joint vertebrae

(c) Pivot Joint Between atlas and axis

(d) Hinge joing Knee Joint

(e) Fibrous joint Between skull bones

(f) Ball and socket Between humerus and

Joint pectorial girdle

How many joints are correctly matched :
(1) Two (2) Four (3) Five (4) Six

131. When two genes are situated close to each other
in a chromosome :-
(1)The percentage of crossing over between them

is very high
(2)Hardly any crossover is deteched
(3) No crossing over can take place between them
(4)Only double cross overs can take place

between them
132. Read the following statements :-

(i) Acute chest pain appears

(ii) The heart stops beating
(iii) No enough oxygen is reaching the heart

muscle.
(iv) congestion of the lungs is one of the main

symptoms of this disease.
(v) It is more common among the middle aged and

elderly.
(vi) It occurs due to conditions that affect the blood

flow.
How many statements correct about Angina.
(1) Two (2) Three

(3) Four (4) Five
133. In which of the following inheritance phenotype

of F1–hybrid does not resemble with either of it's
parents :-
(1) Incomplete dominance
(2) Codominace
(3) Polygenic inheritance

(4) All of above

130. lwph- I lwph-II
(a) folihZ laf/k dkWiZYl ds chp
(b) mikfLFktkr laf/k Øekxr d'ks:dkvksa 

ds e/;
(c) ikboksV laf/k ,Vyl rFkk ,fDll 

ds e/;
(d) fgat laf/k ?kqVuk laf/k
(e) rUrqe; laf/k djksfV vfLFk;ksa ds 

e/;
(f) ckWy o lkWdsV 

laf/k

á;wejl rFkk 

vales[kyk ds e/;

fdruh laf/k;ksa dks lgh feyk;k x;k gS%&

(1) nks (2) pkj (3) ik¡p (4) N%
131. tc ,d xq.klw= esa nks thu ,d nwljs ds ikl fLFkr gksrs

gSaA rks :-
(1)muds chp thu fofue; dk izfr'kr dkQh mPp gksrk

gSA
(2)dfBurk ls gh fdlh thu fofue; dk irk yxk;k

gSA
(3)muds chp dksbZ thu fofue; ugha gks ldrkA
(4)muds chp dsoy nksgjs thu fofue; gks ldrs gSaA

132. fuEu dFkuksa dks if<+;s %&

(i) Nkrh esa rhoz nnZ gksuk

(ii) ân; /kM+du dk can gks tkuk

(iii) ân; isf'k;ksa dks i;kZIr vkDlhtu ugha igq¡prh gSA

(iv) QsaQM+ksa esa ladqyu gksuk bl jksx dk eq[; y{k.k gSA
(v) ;g lkekU;r;k e/;koLFkk rFkk o`¼koLFkk esa vf/kd

gksrk gSA
(vi) ;g voLFkk ml fLFkfr esa gksrh gS tc jDr cgko izHkkfor

gksrk gSA

,Utkbuk ds ckjs esa fdrus dFku lgh gSa %&

(1) nks (2) rhu

(3) pkj (4) ik¡p
133. fuEu esa fdl izdkj dh oa'kkxfr esa F1–ladj dk y{k.k

izk:i blds fdlh Hkh tud ls lekurk ugha n'kkZrk gS :-

(1) viw.kZ izHkkfodrk

(2) lg izHkkfodrk

(3) ,dthuh oa'kkxfr

(4) mijksDr lHkh

Time Management is Life Management
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134. Read the following statements :-

(I)  Dialysis fluid contain all the constituents as
in plasma except ----(a)-----

(II) A chordate animal having flame cells as
excretory structure is ------(b)-------

(III) Reabsorption of water from distal parts of the
tubule is facilitated by hormone
-----(c)---

In above statements (a), (b), (c) are :-

(1) Glucose, Planaria, ADH

(2) Nitrogenous wastes, Planaria, ADH

(3) Nitrogenous wastes, Amphioxus, ADH

(4) NaCl, Rotifers, Aldosterone

135. How many different type of gametes are produced
by M/M, g/g, B/b, C/c, D/d genotype :-
(1) 2 (2) 4 (3) 8 (4) 16

136. The epidermis of mammals is characterized by the
absence of:-

(1) mucous glands

(2) Femoral glands

(3) Poison gland

(4) all of these
137. The end product, whose addition will check the

synthesis of biosynthetic enzyme is known as :-
(1) Aporepressor (2) Co-repressor
(3) Inducer (4) Suppressor

138. In humans at the end of the first meiotic
division, the male germ cells differentiate into
the :-
(1) new spermatogonia
(2) spermatids
(3) secondary spermatocytes
(4) primary spermatocytes

139. The expression of genes, for the production of
milk in only female is :-
(1) Sex linked trait (2) Y-linked trait
(3) Sex limited trait (4) Sex influenced trait

140. Emergency contraceptives are effective if used
within :-

(1) 72 hrs of coitus

(2) 72 hrs of ovulation

(3) 72 hrs of menstruation

(4) 72 hrs of implantation

134. fuEu dFkuksa dks if<+;s%&

(I)  viksgu nzo esa ----(a)----- ds vykok jDr IykTek ds

vU; lHkh inkFkZ mifLFkr gksrs gSA

(II) ------(b)------- ,d dkWMsZV tUrq gS ftlesa Tokyk
dksf'kdk mRlthZ jpuk;sa gksrh gSA

(III) o`Dd ufydk ds nwjLFk Hkkx }kjk ty dk iqujko'kks"k.k
-----(c)--- gkWeksZu }kjk gksrk gSA

mijksDr dFkuksa esa (a), (b), (c) gS%&
(1) Xywdksl] Iysusfj;k] ADH

(2) ukbVªkstuh; vif'k"V] Iysusfj;k ADH

(3) ukbVªkstuh; vif'k"V] ,EQhvkWfDll] ADH

(4) NaCl, jksVhQj] ,YMksLVhjksu
135. M/M, g/g, B/b, C/c, D/d thu izk:i ls fdrus izdkj

ds ;qXed cusxs :-
(1) 2 (2) 4 (3) 8 (4) 16

136. mijksDr esa fdldh vuqmifLFkfr Lru/kkfj;ksa dh vf/kpeZ
dk y{k.k gS &

(1) 'ys"ek xzafFk;ka

(2) fQeksjy xazafFk;ka

(3) fo"k xzafFk;ka

(4) mijksDr lHkh
137. vfUre mRikn] ftlds feykus ij ,Utkbe dk cuuk cUn

gks tkrk gS] dgykrk gS :-
(1) ,iksfjizslj (2) dkW&fjizslj
(3) bUM~;wlj (4) liszlj

138. euq";ksa esa izFke v¼Zlw=h foHkktu ds var esa uj teZ dksf'kdk,a

foHksfnr gks tkrh gS &

(1) u;s LiesZVksxksfu;k esa

(2) LiesZfVM~l esa

(3) f}rh;d LiesZVkslkbV~l esa

(4) izkFkfed LiesZVkslkbV~l esa
139. dsoy eknk esa] nqX/k fuekZ.k gsrq] thu dh vfHkO;fä

gS :-
(1) fyax lgyXu y{k.k (2) Y-lgyXu y{k.k
(3) fyax lhfer y{k.k (4) fyax izHkkfor y{k.k

140. vkikrdkyhu xHkZfujks/k izHkkoh gksxh tc mUgs mi;ksx esa fy;k
tk, &

(1) eSFkqu ds 72 ?k.Vs esa

(2) v.MksRlxZ ds 72 ?k.Vs esa

(3) ½rqòko ds 72 ?k.Vs esa

(4) vkjksi.k ds 72 ?k.Vs esa
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141. Which of the following match is/are correct ?
(A) PCR Technique–Taq & Vent polymerase
(B) Tetra & Andi–Cloned monkey
(C) SCID disorder–ADA Enzyme
(D) First transgenic animal–Mouse
(1) All are correct
(2) Only C is correct
(3) Only A & D are correct
(4) Only B is correct

142. Mature graafian follicle is generally present in
the ovary of a healthy human female around
stet:

(1) 5-8 day of menstrual cycle

(2) 11-17 day of menstrual cycle

(3) 18-23 day of menstrual cycle

(4) 24-28 day of menstrual cycle

143. The given pedigree chart shows the inheritance
of which of the following Mendelian
disorder ?

(1) Autosomal dominant trait - Myotonic
dystrophy.

(2) X-linked dominant trait - Pseudoricketes
(3) Autosomal recessive trait - Sickle cell

anaemia
(4) X-linked recessive trait - Haemophilia.

144. Match the following and choose the correct
options :
(A) Trophoblast (i) Embeding of blastocyst

in the endometrium
(B) Cleavage (ii) Group of cells that would

differentiate as embryo
(C) Inner cells mass (iii) outer layer of

blastocyst attached to the
endometrium

(D) Implantation (iv) mitotic division of
zygote

(1) A-ii, B-i, C-iii, D-iv
(2) A-iii, B-iv, C-ii, D-i
(3) A-iii, B-i, C-ii, D-iv
(4) A-ii, B-iv, C-iii,, D-i

141. fuEu esa ls dkSulk esy lgh gS ?
(A) PCR rduhd–Taq ,oa Vent polymerase
(B) Tetra ,oa Andi–canj ds Dyksu
(C) SCID vlkekU;rk–ADA ,Utkbe
(D) izFke VªkUltsfud tUrq&pwgk
(1) lHkh lgh gSa
(2) dsoy C lgh gS
(3) dsoy A vkSj D lgh gSa
(4) dsoy B lgh gS

142. ,d LoLFk euq"; eknk ds v.Mk'k; esa lkekU;r% ifjiDo

xzkQh;u iqfVdk mifLFkr gksrh gS&

(1) ekfld pØ ds 5-8 osa fnu esa

(2) ekfld pØ ds 11-17 osa fnu esa

(3) ekfld pØ ds 18-23 osa fnu esa

(4) ekfld pØ ds 24-28 osa fnu esa

143. fn;k x;k oa'kkoyh pkVZ fuEu esa ls dkSuls es.Msfy;u fodkj
dh oa'kkuqxfr dks n'kkZrk gS ?

(1) vksVkslksey izHkkoh jksx & ek;ksVksfud fMLVªksQh

(2) X-lgyXu izHkkoh jksx - L;wMksfjdsV~l

(3) vksVkslksey vizHkkoh jksx & fldy lsy ,uhfe;k

(4) X-lgyXu vizHkkoh jksx & fgeksQhyh;k

144. mijksDr dks feykdj lgh mÙkj dk p;u dhft, &
(A) iks"kdksjd (i) dksjdiqVh dk xHkkZ'k; vUr% Lrj

(,.MksesfVª;e) esa vUr% LFkkfir
gksuk

(B) fonyu (ii) dksf'kdkvksa dk lewg tks Hkzw.k esa
foHksfnr gks tkrh gS

(C) varj dksf'kdk (iii) dksjdiqVh dh ckgjh ijr tks
lewg xHkkZ'k; vUr%Lrj

(,.MksesfVª;e) ls layXu gksrh gS
(D) vkjksi.k (iv) ;qXeut ds lelw=h foHkktu
(1) A-ii, B-i, C-iii, D-iv

(2) A-iii, B-iv, C-ii, D-i

(3) A-iii, B-i, C-ii, D-iv

(4) A-ii, B-iv, C-iii,, D-i
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145. Allelic sequence variations, where more than one
varient (allele) at a locus in a human population
with a frequency greater than 0.01 is referred to as
(1) Incomplete dominance
(2) EST
(3) SNP
(4) DNA polymorphism

146. Catalytic converters are fitted into automobiles to
reduce emission of harmful gases. Catalytic
converters change unburnt hydrocarbons into:-
(1) carbon dioxide and water
(2) carbon mono oxide
(3) methane
(4) carbon dioxide and methane

147. The restriction endonuclease enzyme binds to the
DNA & cut -
(1) any one strand of the double helix
(2) each of the two strands at specific points in

their base - sugar bonds.
(3) each of the two strands at specific points in

their base - phosphate bonds.
(4) each of the two strands at specific points in

their sugar - phosphate, back bones.
148. Match correctly the following and choose the

correct option :
(i) Environment Protection Act A. 1974
(ii) Air Prevention & Control of B. 1987

pollution Act
(iii) Water Act C. 1986
(iv) Amendment of Air Act to D. 1981

include noise
The correct matches is ;
(1) i-C, ii-D, iii-A, iv-B (2) i-A, ii-C, iii-B, iv-D
(3) i-D, ii-A, iii-B, iv-C (4) i-C, ii-D, iii-B, iv-A

149. Read the following statement having two blanks
(A & B) :-

"A drug used for    (A)      patients is obtained
from a species of the organism    (B)  .

The one correct option for the two blanks is -

Blank - A Blank - B

(1) Heart Streptococus

(2) Heart Monascus

(3) Organ - transplant Trichoderma

(4) Swine flu Monascus

145. ,fyfyd Ja`[kyk fofHkUurk,a] ftldh ,d yksdl ds fy,
ekuo tula[;k esa vkòfÙk 0.01 ls vf/kd gksrh gS] dgykrh
gS
(1) viw.kZ izHkkfork
(2) EST
(3) SNP
(4) DNA cg:irk

146. dsVkyk;fVd dUoVZj okguksa esa fo"kSyh xSlksa ds fu;U=.k ds
yxk;k tkrk gS] dsVkyk;fVd dUoZVj vifgr gkbMªksdkcZu
dks cnyrs gS&
(1) carbon dioxide and water
(2) carbon mono oxide
(3) methane
(4) carbone dioxde and methane

147. jsLVªhD'ku ,.MksU;wfDy,t ,Utkbe DNA ls tqMdj -

(1) f}jTtqd ds fdlh Hkh ,d lw= dks dkVrk gSA

(2) nksuksa lw=ksa esa fdlh fof'k"V fcUnq ij {kkj & 'kdZjk

cU/k dks dkVrk gSA

(3) nksuksa lw=ksa esa fdlh fof'k"V fcUnq ij {kkj & QkLQsV

cU/k dks dkVrk gSA

(4) nksuksa lw=ksa esa fdlh fof'k"V fcUnq ij 'kdZjk & QkLQsV

cU/k dks dkVrk gSA
148. fuEufyf[kr dk lgh feyku djds lgh fodYi dks pqfu;s&

(i) Environment Protection Act A. 1974
(ii) Air Prevention & Control of B. 1987

pollution Act

(iii) Water Act C. 1986

(iv) Amendment of Air Act to D. 1981

include noise

The correct matches is ;

(1) i-C, ii-D, iii-A, iv-B (2) i-A, ii-C, iii-B, iv-D

(3) i-D, ii-A, iii-B, iv-C (4) i-C, ii-D, iii-B, iv-A

149. fuEufyf[kr dFku dks if<,] ftlesa nks fjDr LFkku fn, x,
gS (A & B) :-

",d Mªx tks fd     (A)      jksxh;ksa ds fy, mi;ksx dh
tkrh gSA mls     (B)   tho ls izkIr fd;k tkrk gSA

Blank - A Blank - B

(1) ân; Streptococus

(2) ân; Monascus

(3) vax - izR;kjksi.k Trichoderma

(4) Swine flu Monascus
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150. xyr dFku dks pqfu;s %&

(1) eksfUVª;y izksVksdksy vkstksu dks vi?kfVr djus okyh

xSlksa ds fu;a=.k ds fy, cuk;k FkkA

(2) esFksu rFkk CO2 xzhu gkml xSl gS

(3) Mksclu] vkWDlhtu dks ekius fd bdkbZ gS

(4) bulhuhjsVj dk mi;ksx vLirky ds [krjukd vif'k"V

ds] fuiVkus ds fy, fd;k tkrk gS

151. fuEufyf[kr pkj dFkuksa (a-d) ij /;ku dhft, vkSj dsoy
lHkh dFkuks a okyk ,d fodYi pqfu, :-

(a) ladj.k nks fofHkUu tkfr ds okaNuh; xq.kksa ds la;kstu
esa lgk;d gksrk gSA

(b) ekse dk iz;ksx dkafro¼Zd oLrqvksa rFkk fofHkUu izdkj
ds ikfy'k dks rS;kj djus esa fd;k tkrk gSA

(c) eNyh ikyu laca/k eNyh dks idM+uk mudk
izlaLdj.k rFkk mUgsa cspus ls gksrk gSA

(d) var iztuu Js"B fdLe ds thuksa ds lap;u esa lgk;rk
iznku djrk gSA

fodYi%
(1) dFku (b), (c) rFkk (d)

(2) dFku (a) rFkk (d)

(3) dFku (a) rFkk (c)

(4) dFku (a), (c) rFkk (d)

152. izfrtSfodrk nks tkfr;ksa ds chp dk laca/k gS ftlesa  :

(1) ,d tkfr dks gkfu gksrh gS] nwljh dks ykHk

(2) ,d tkfr dks gkfu] nwljs ij dksbZ izHkko ugh gksrk

(3) ,d tkfr dks ykHk] nwljk vizHkkoh jgrk gS

(4) nksuksa tkfr;ksa dks gkfu gksrh gS

153. uhps nh xbZ lwph esa ls fdrus ,UtkbEl vXuk'k; jl esa
ik;s tkrs gS vkSj izksVhu dk ikpu djrs gSa\
ysDVst] fVªfIlu] isfIlu] dkbeksfVªfIlu] ,feuksisfIVMst]
jsfuu] dkcksZDlhisfIVMst] U;wfDy,st] ekYVst
(1) N% (2) rhu

(3) pkj (4) ik¡p

154. o"kkZ ouksa ds fuekZ.k ds fy, vkSlr rkieku rFkk o"kkZ gksxh%&

(1) 18-25ºC and 150-400 cm

(2) 5-15ºC and 50-100 cm

(3) 30-50ºC and 100-150cm

(4) 5-15ºC and 100-200 cm

150. Choose the incorrect statement :-
(1) The Montreal protocol is associated with the

control of emission of ozone depleting
substances

(2) Methane and carbon dioxide are green house
gases

(3) Dobson units are used to measure oxygen
content

(4) Use of incinerators is crucial to disposal of
hospital wastes

151. Consider the following four statements (a-d) and
select the option which includes all the correct
ones only.
(a) Cross-breeding allows the desirable qualities

of two different species to be combined.
(b) Wax is used in the preparation of cosmetics

and polishes of various kinds.
(c) Pisciculture is catching processing and selling

of fishes
(d) Inbreeding helps in accumulation of superior

genes.
Options :
(1) Statement (b), (c) and (d)
(2) Statement (a) and (d)
(3) Statement (a) and (c)

(4) Statement (a), (c) and (d)

152. Amensalism is an association between two species
where :
(1) one species is harmed and other is benefitted
(2) one species is harmed and other is unaffected
(3) one species is benefitted and other is

unaffected
(4) both the species are harmed

153. How many enzymes in the list given below are protein
digesting enzyme found in pancreatic juice?

Lactase, Trypsin, Pepsin, Chymotrypsin,
Aminopeptidase,  Rennin, Carboxypeptidase,
Nuclease, Maltase

(1) Six (2) Three (3) Four (4) Five

154. Formation of tropical forests needs mean annual
temperature and mean annual precipitation as :
(1) 18-25ºC and 150-400 cm

(2) 5-15ºC and 50-100 cm

(3) 30-50ºC and 100-150cm

(4) 5-15ºC and 100-200 cm
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155. Read the following five statement and answer as
asked next to them ?
(a) Peptic cells secrete the proenzyme pepsinogen
(b) Enterokinase is a digestive enzyme of

pancreatic juice
(c) Haustra are found in large intenstine
(d) For its activity carboxypeptidase requires zinc
(e) Spicy food may cause indigetion
How many of the above statements are
incorrect ?
(1) Four (2) One
(3) Two (4) Three

156. According to Allen's Rule, the mammals from
colder climates have :
(1) shorter ears and longer limbs
(2) longer ears and shorter limbs
(3) longer ears and longer limbs
(4) shorter ears and shorter limbs

157. Read the following four statements (a-d) :-
(a) A single out cross often helps to overcome

inbreeding depression
(b) Artificial insemination helps to overcome

several problems of normal matings
(c) Bee keeping is easy and do not require any

specialised knowledge
(d) Catla, rohu and common carp are fresh water

fish.
How many of the above statements are correct?
(1) One (2) Two
(3) Three (4) Four

158. Ecological niche is :-
(1) the surface area of the ocean
(2) an ecologically adapted zone
(3) the physical position and functional role of a

species within the community
(4) formed of all plants and animals living at the

bottom of a lake
159. When the resources are limited, which are the

phases exhibited by an organism during growth?
(1) Lag, Log, exponential, deacceleration,

asymptomatic
(2) Lag, log, asymptomatic, deacceleration,

exponential
(3) Lag, log, deacceleration, exponential,

asymptomatic
(4) None of these

155. fuEu ik¡p dFkuksa dks i<+dj iwNs x, iz'u dk mÙkj ns %&

(a) isfIVd dksf'kdk izk s,Utkbe isIlhukstu dk L=o.k

djrh gSA

(b) ,sUVhjksdkbust vXuk'k; jl dk ikpd ,Utkbe gSA

(c) gksLVªk cM+h vka= esa ik;s tkrs gSA

(d) dkcksZDlhisIVhMst ds lfØ; gksus ds fy, Zn vko';d

gSA

(e) elkysnkj Hkkstu djus ls vip gksrh gSA

fuEu esa ls fdrus okD; xyr gSA

(1) pkj (2) ,d (3) nks (4) rhu

156. ,syu ds fu;ekuqlkj tks Lru/kkjh BaMs {ks=ksa esa jgrs gS muds&

(1) dku NksVs rFkk mikax cM+s gksrs gS

(2) dku cMs+ rFkk NksVs mikax gksrs gS

(3) dku cM+s rFkk cMs mikax gksrs gS

(4) dku NksVs rFkk NksVs mikax gksrs gS

157. fuEufyf[kr pkj dFkuksa (a-d) dks if<+,\
(a) ,dy cfg%ldj.k ls cgq/kk var%iztuu volknu

lekIr gks tkrk gSA
(b) lkekU; laxe ls mRiUu vusd leL;k,a Ïf=e oh;Zlspu

dh izfØ;k ls nwj gks tkrh gSA
(c) e/kqeD[kh ikyu vklku gS vkSj blds fy, fo'ks"k izdkj

ds Kku dh vko';drk ugha gksrhA
(d) dsryk] jksgw vkSj dkWeu dkiZ vyo.k ty eNyh gSA
mijksDr dFkuksa esa ls fdrus lgh gS%&

(1) ,d (2) nks
(3) rhu (4) pkj

158. ikfjLFkfrd@fudsr gS :-

(1) leqnz dh lrg

(2) ikfjfLFkfrdh :i ls vuqdwy lrg

(3) leqnk; esa tkfr dh HkkSfrd fLFkfr rFkk fØ;kRed Hkwfedk

(4) leqnz dh ry ds lHkh ikniksa rFkk tUrqvksa ls cuk

159. tc lalk/ku lhfer gksrs gSa] rks tho esa o`f¼ ds nkSjku dkSulh
voLFkk,¡ n'kkZ;h tkrh gS \
(1) ysx] yksx] pj?kkrk¡dh] foRoj.kh;] ,flEiVksesfVd]
(2) ysx] yksx] ,flEiVksesfVd] foRoj.kh;]

pj?kkrk¡dh

(3) ysx] yksx] foRoj.kh;] pj?kkrk¡dh]

,flEiVksesfVd

(4) mijksä esa ls dksbZ ugha
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160. Function of stem is :-
(1) To bear leaves, flowers and branches.
(2) Conduction of water and minerals to leaves.
(3) Conduction of food (photosynthates)
(4) All of the above

161. The density of a population in a given habitat during
a given period, fluctuates due to changes in?
(1) Immgration, Natility
(2) Mortality
(3) Emigration
(4) All the above

162. Conjoint, bicollateral, open vascular bundles
arranged in two rings are characteristic of :-

(1) Cucurbita (2) Cocos

(3) Asparagus (4) Yucca

163. Type of ovule in Pea :
(1) Hemianatropous
(2) Amphitropous
(3) Anatropous
(4) Campylotropous

164. AT.S. of monocot stem can be distinguished from
that of a dicot stem by observing the :-
(1) Vascular bundles, which are scattered in
monocot stem.
(2) Sunken stomata
(3) Radial vascular bundles
(4) Concentric vascular bundles

165. Formation of embryo from egg cell without
fertilization ?
(1) Parthenogenesis
(2) Parthenocarpy
(3) Apospory
(4) Apomixis

166. Which modification is reported in Asparagus and
Ruscus?
(1) Cladodes (2) Phyllodes
(3) Leaf spines (4) Phylloclades

167. Filiform apparatus is  present in :
(1) Suspensor cell (2) Egg cell
(3) Synergids (4) Zygote

168. A flower having many free carpels will develop
into :-
(1) Schizocarpic fruit (2) Sorosis
(3) Simple fruit (4) Etaerio

160. rus dk dk;Z gS :-
(1) ifÙk;ksa iq"iksa o 'kk[kkvksa dks /kkj.k djuk
(2) ifÙk;ksa rd ty ,ao [kfut yo.kksa dk laogu djuk
(3) [kk| inkFkksZa dk laogu djuk
(4) mijksDr lHkh

161. nh xbZ vof/k ds nkSjku fn, x, vkokl esa lef"V dk ?kuRo
fdu ewyHkwr izØeksa esa ?kVrk&c<+rk gS ?
(1) vkizoklu] tUenj
(2) e`R;qnj
(3) mRizoklu
(4) mijksDr lHkh

162. la;qDr] lef}ik'ohZ;] [kqys laogu iwy tks fd nks oy;ksa
esa O;ofLFkr gksrs gS] fdldk yk{kf.kd xq.k gksrs gS :-

(1) dqdqjfcVk (2) dkWdl

(3) ,Lisjsxl (4) ;qDdk

163. eVj esa chtk.M gS :
(1) gseh ,ukVªksil
(2) ,EQhVªksil
(3) izrhi
(4) oØ

164. ,dchti=h rus dh vuqizLFk dkV dks fdlds }kjk f}chti=h
rus ls foHksfnr fd;k tk ldrk gS :-

(1) laogu iwyksa }kjk tks fd ,d chti=h rus esa fc[kjs jgrs gSA

(2) /k¡ls jU/kzks }kjk

(3) vjh; laogu iwyksa }kjk

(4) ladsfUnzr laogu iwyksa }kjk
165. fcuk fu"k spu ds v.M ls Hk w z.k dk fuekZ.k dgykrk

gS ?
(1) vfu"ksd tuu
(2) vfu"ksd Qyu
(3) vichtk.kqdrk
(4) vlax tuu

166. ,sLisjsxl o jLdl esa dkSulk :ikUrj.k ik;k tkrk gS?

(1) i.kkZHk ioZ (2) i.kkZHk o`ar

(3) i.kZ 'kwy (4) i.kkZHk LraHk

167. rUrq:i leqPp; fdldk ,d y{k.k gS :
(1) fuyEcd (2) v.M dksf'kdk
(3) lgk; dksf'kdk (4) ;qXeut

168. dbZ eqDr v.Miksa  ;qDr iq"i fodflr gksxk :-

(1) fHknqj Qy esa (2) lksjksfll esa

(3) ljy Qy esa (4) iaqt Qy esa
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169. Match the column :-
Column -A Column - B

(A) Pennatula (i) Portuguese man of war
(B) Gorgonia (ii) Bath sponge
(C) Meandrina (iii) Seapen
(D) Euspongia (iv) Sea fan
(E) Physalia (v) Brain coral

(1) A-iii, B-iv, C-v, D-i, E-ii

(2) A-iv, B-iii, C-ii, D-v, E-i

(3) A-iii, B-iv, C-v, D-ii, E-i

(4) A-iii, B-iv, C-ii, D-v, E-i

170. Which of the following character is shown by

Australian Acacia and Parkinsonia ?

(1) Developmental heterophylly.

(2) Climb up to a support with the help of

spines.

(3) Leaf part petiole gets modified into phyllode.

(4) Vegetative propagation occurs by bulbils.

171. Metagenesis is present in :-

(1) Corals

(2) Anemones

(3) Hydra

(4) None

172. The plant hormone which is basic in nature:-

(1) Auxin (2) Gibberellins

(3) Cytokinin (4) Abscisic acid

173. Select the incorrect statement among the

following :-

(1) Flat worms are mostly endoparasites

(2) Ctenophora are exclusively marine

(3) Arthropods are mostly oviparous with direct

or indirect development

(4) Many cartilagenous fishes are oviparous

174. An example of non-competitive inhibition is:-

(1) The inhibition of succinic dehydrogenase by

malonate

(2) Cyanide action on cytochrome oxidase

(3) Sulpha drug on folic acid synthesizing bacteria

(4) None of above

175. Worm like marine animals are :-

(1) Protochordates (2) Ctenophores

(3) Cephalochordata (4) Hemichordata

169. lqesfyr dhft, :-
Column -A Column - B

(A) Pennatula (i) Portuguese man of war
(B) Gorgonia (ii) Bath sponge
(C) Meandrina (iii) Seapen
(D) Euspongia (iv) Sea fan
(E) Physalia (v) Brain coral

(1) A-iii, B-iv, C-v, D-i, E-ii

(2) A-iv, B-iii, C-ii, D-v, E-i

(3) A-iii, B-iv, C-v, D-ii, E-i

(4) A-iii, B-iv, C-ii, D-v, E-i

170. fuEufyf[kr esa ls dkSulk y{k.k vkLVªsfy;u vdsf'k;k vkSj
ifdZUlksfuvk }kjk iznf'kZr fd;k tkrk gS ?

(1) fodklh; fo"kei.kZrk

(2) 'kwyksa dh lgk;rk ls vkyEcu ij vkjksg.k

(3) i.kZ ds Hkkx i.kZo`Ur dk i.kkZHk o`Ur esa :ikUrj.k

(4) i=izdfydkvksa }kjk dkf;d izo/kZu

171. esVktsusfll ik;k tkrk gS :-
(1) Corals

(2) Anemones

(3) Hydra

(4) dksbZ ugha
172. ikni gkeksZu tks {kkjh; izo`fÙk dk gS&

(1) vkWfDlu (2) ftCcsjsfyu
(3) lk;VksdkbZfuu (4) ,Clhfld ,flM

173. buesa ls vlR; dFku pqfu, :-

(1) piVs Ïfe vUr%ijthoh gksrs gSA

(2) VhuksQksjk leqnzh gksrs gSA

(3) vkFkksZiksMk T;knkrj v.M;qth gksrs gSa] rFkk fodkl izR;{k
vksj vizR;{k nksuksa gksrk gSA

(4) T;knkrj mifLFktur eNfy;k¡ tjk;qth gksrh gSA

174. vizfrLi/khZ laneu dk mnkgj.k gS&
(1) eSyksusV }kjk lDlhfud MhgkbMªksftust dk laneu
(2) lkbVksØkse vkWDlhMst ij lk;ukbM dh fØ;k
(3) QkWfyd ,flM cukus okys thok.kq ij lYQk vkS"kf/

dh fØ;k
(4) mijksDr dksbZ ugha

175. Ïfe dh rjg leqnzh tUrq gS :-
(1) Protochordates (2) Ctenophores

(3) Cephalochordata (4) Hemichordata
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176. Identify the product marked (A) and (B) in the
following pathway :-

3-Phosphoglyceric acid
(B)

CO2

NADH + H+

NAD+

(A) Pyrovate

(1) (A) 2 phospho glycerate; (B) Acetyl CoA
(2) (A) PEP; (B) Ethyl alcohol
(3) (A) PEP (B) Lactic acid
(4) (A) PEP (B) acetyl CoA

177. Lencelet is :-
(1) Hemichordata (2) Vertebrata
(3) Urochordata (4) None

178. OEC is located in/on :-
(1) Outer surface of grana membrane
(2) Lumen of stroma lamellae
(3) Inner surface of thylakoid membrane
(4) Stroma

179. Transport proteins of are control points where a
plant adjust the quantity and types of solutes that
reach the xylem :-
(1) Pericycle (2) Hypodermis
(3) Endodermis (4) Pith

180. (a) Essential elements are components of energy
related compounds

(b) Essential elements are components of
structural element of cells

(c) Mn2+ is an activator of alcohol dehydrogenase
(1) All are correct
(2) Only (a) is incorrect
(3) Only (b) is incorrect
(4) Only (c) is incorrect

176. fn, x, iFk esa fpfUgr (A) vkSj (B) mRikn igpkfu,%&

3-Phosphoglyceric acid
(B)

CO2

NADH + H+

NAD+

(A) Pyrovate

(1) (A) 2 QkLQksfXyljsV; (B) ,flVkby CoA

(2) (A) isi; (B) bFkkbZy  ,Ydksgy

(3) (A) isi (B) ysfDVd vEy

(4) (A) isi (B) ,flVkby CoA

177. ysUlhysV gksrk gS :-
(1) Hemichordata (2) Vertebrata
(3) Urochordata (4) dksbZ ugha

178. OEC dgk¡ ij@is fLFkr gksrh gS&
(1) xzsuk f>Yyh ds ckgjh lrg ij
(2) LVªksek ysesyh ds Y;weu esa
(3) FkkbysdksbM f>Yyh ds vkarfjd lrg ij
(4) LVªksek esa

179. &&&&&&&&& ds okgd izksVhu fu;a=.k fcUnw gS ogk¡ ij ikni
tkbye esa igqapus okys foy;ksa fd ek=k rFkk izdkj Bhd
djrk gSA
(1) isfjlkbfdy (2) gkbiksMfeZl
(3) ,UMksMfeZl (4) fiFk

180. (a) vfuok;Z rRo ÅtkZ la;qDr inkFkks± ds ?kVd gSA
(b) vfuok;Z rRo dksf'kdkvksa ds vkdkjh; rRoksa ds ?kVd

gSA

(c) Mn2+ ,Ydksgy fMgkbZMªksftust dk lfØ;d gS

(1) lkjs lgh gS

(2) dsoy (a) xyr gS

(3) dsoy (b) xyr gS
(4) dsoy (c) xyr gS

Your moral duty
is that to prove ALLEN is ALLEN
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